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Sub-Section 1d: 167943719
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 16794311518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pointing to a man, Kavya says, “This man’s son’s sister is my mother-in-law”. How is Kavya’s husband related to the man?

Options:
« Grandson

% Son-in-law
% Father

% Son

Question Number : 1 Question Id : 16794311518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 2 Question Id : 16794311519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

You are given three statements and three conclusions. Choose the comment about conclusion from the
given options below:

Statements:

I. Some pastes are brushes.
II. No brush is towel.
III. All towels are soaps.

Conclusions:

I. Some soaps are brushes.
II. Some pastes are towels.
III. No soap is brush.

Options:
% Only conclusion I follows.

% Only conclusion II follows.

« Either I or II follows.

% Either II or I11 follows.

Question Number : 2 Question Id : 16794311519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 3 Question Id : 16794311520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sreenithi, Bavya, Chithra, Deepa and Guna are five friends. Sreenithi is shorter than Bavya but taller than Guna. Chithra
is the tallest. Deepa is shorter than Bavya and taller than Sreenithi. Who has two persons taller and two persons
shorter than her?

Options:
% Guna

% Chithra
% Sreenithi

» Deepa

Question Number : 3 Question Id : 16794311520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 4 Question Id : 16794311521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
One morning after sunrise. Priva and Neha were standing in a garden with their backs towards each other. Priva’s
shadow fell exactly towards left hand side. Which direction was Neha facing?

Options:
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« South
% West
% North

% East

Question Number : 4 Question Id : 16794311521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TifeT & 91 T Fag AT 3R g U aFT H Um-gEt H AR 9o e w3 o B Fr won
e a5 XF 97 Wr ff Ag # A Fw foar & o

Options:
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Question Number : 5 Question Id : 16794311522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

SURGEON : SCALPEL : : AUTHOR.
Options:

# READ

« PEN

# ERASER

# SONG

Question Number : 5 Question Id : 16794311522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 6 Question Id : 16794311523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a class of 100 students. 63 like icecreams and 76 like cool drinks. How many of them like both?

Options:
# 35

® 37
& 39

# 40

Question Number : 6 Question Id : 16794311523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
100 SIS &7 TF FET #, 63 F FFERH 3K 76 F 32 97 TEE ¥ =98 § e o & gar =@t
Options:

% 35
% 37
« 39

% 40

Question Number : 7 Question Id : 16794311524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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In English alphabet. which letter is midway between 227 fetter from the left and 215t letter from the right?

Options:
# M

« N
® P

# R

Question Number : 7 Question Id : 16794311524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3T SUTATET H, S @7 ¥ a0 ¥ 224 HeW 3R &0 ¥ 219 38T & a1 H 3ar 87

Options:

% M

« N
% P

% R

Question Number : 8 Question Id : 16794311525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following question. there are two statements labeled as Assertion (A) and Reason (R).Choose the correct
alternative.

Assertion (A): Telephone wires sag more in summer.

Reason (R): They expand due to summer heat.
Options:

% A is true but R is false.

% A is false but R is true.

» Both A and R are true and R is the correct explanation of A.

» DBoth A and R are true and R is not the correct explanation of A.

Question Number : 8 Question Id : 16794311525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
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Question Number : 9 Question Id : 16794311526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing number:
7

167 32

M|
|

= | W

Options:

10
% 64
10
% 46
11
% 48
11
« 64

Question Number : 9 Question Id : 16794311526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

10
% 64
10
% 46
11
% 48
11
« 64
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Question Number : 10 Question Id : 16794311527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing number from the following:

315

154
14 221 196

11

Options:

# 251

261

# 255

# 265

[
Ly

1

Question Number : 10 Question Id : 16794311527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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154 315
14 221 | 196 15 ? 225

11 21

Options:

% 251

« 261

% 255

% 265

Question Number : 11 Question Id : 16794311528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Japan’ is related with ‘Tokyo’, in the same way as ‘France’ is related with

Options:
% England

" Paris
% London

% Dollar

Question Number : 11 Question Id : 16794311528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 12 Question Id : 16794311529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a certain code, ‘li ke pee’ means ‘chilly is green’, ‘tik hee’ means *white flowers’ and ‘pee nit hee’ means ‘flowers
are fruits’. How will you write *white” in that code?

Options:
o tik

% hee
% pee

% nit

Question Number : 12 Question Id : 16794311529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ey fafiree 1= A, li ke pee’ F 7Y ‘chilly is green’, ‘tik hee’ &7 3797 ‘white flowers’ 3T ‘pee nit hee’
T 37 flowers are fruits’ g1 S5 FIs F ‘white’ & Far orgr Jwe=m?

Options:

« tik
% hee

« pee

% hit

Question Number : 13 Question Id : 16794311530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Three girls Banu, Dhivya and Nithya are standing in a queue. There are five girls between Banu and Dhivya and eight
girls between Dhivya and Nithya. If there are three girls ahead of Nithya and 21 behind Banu, then what could be the
minimum number of girls in the queue?

Options:

® 25

% 26
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« 28

# 30

Question Number : 13 Question Id : 16794311530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 25

% 26

i
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Question Number : 14 Question Id : 16794311531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the similar pair for the following:
50:26 :;

Options:
% 11::55

o 24 :13
% 30:14

#4411

Question Number : 14 Question Id : 16794311531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

38 TIA F TAG B A A BT AT IA F THA RERHSOT ¢
Bl - 26

Options:

x 11 : bh
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v 24 113
% 30 : 14
44 11

Question Number : 15 Question Id : 16794311532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose most appropriate option.

You have mild fever, you feel that:

Options:
. it is necessary to join work just to complete the urgent ones

1t is not necessary to go to office
% 1t is unnecessary to think about any work

» health is more important than work

Question Number : 15 Question Id : 16794311532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ot o
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Question Number : 16 Question Id : 16794311533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Find the missing character :

A P B
L E M
W G ?

Options:

# V

# J

o X

#Y

Question Number : 16 Question Id : 16794311533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HATTEUT HET HT T FL

A P B
L E M
W G 7

Options:

% V

% J

X

Y
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Question Number : 17 Question Id : 16794311534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are given two statements I and II. Choose the comment about the statements from the given options below:

Statements:

I. The employees of the oldest bank in the country have given an indefinite strike call starting from 4t of the next

month.
II. The employees of the Central Government have withdrawn their week long demonstrations.

Options:
w Statement I is the cause and Statement II is its effect.

% Statement II is the cause and Statement I is its effect.

% Both the Statements I & II are effects of some common causes.

» Both the Statements I & II are effects of independent cause.

Question Number : 17 Question Id : 16794311534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 18 Question Id : 16794311535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Vivek goes 30 metres North, then turns right and walks 40 metres, then again turns right and walks 20 metres, then
again turns right and walks 40 metres. How many metres is he away from his original position?

Options:
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# 2 metres
# 5 metres
« 10 metres

# 11 metres

Question Number : 18 Question Id : 16794311535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fad% 30 #Hiex 3eeR @1 3R 1w , T a0 73 FX 40 A F9ar g, Y 97 aw #sar g 3K 20 A
T 8, € T ¥ a0 {3 F 40 HiT Tokdr g1 H9A 3RHe fig § 97 Faw dew g 2

Options:

% 2 HET
% 5 AT
» 10 AT

« 11 #HreT

Question Number : 19 Question Id : 16794311536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the information carefully and answer the question that given below:

(i) P.Q.R.S.T.UandV are sitting around a circle and are facing the centre.
(i1) V is second to the left of R, who is to the immediate left of U.

(ii1) P is third to the left of T.

(iv) Q is between S and T.

Which of the following is the position of U?

Options:
% To the immediate left of R.

% To the immediate right of P.

% Between A and S.

» Fourth to the right of S.
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Question Number : 19 Question Id : 16794311536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« R & &= T17
« P & 8% T
«AxsFdFoa

Question Number : 20 Question Id : 16794311537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are given a statement and two conclusions. Choose the comment about conclusions from the given options below:

Statement:
All actors are singers. All players are actors.

Conclusions:

L. All players are singers.
II. Some actors are players.

Options:
% Only conclusion I follows.

% Only conclusion IT follows.

« Both conclusions I and 1T follow.

% Neither conclusion I nor II follows.
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Question Number : 20 Question Id : 16794311537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 167943720
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794311538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
'Rig Veda' consists of how many hymns?

Options:
# 1008
# 1018

« 1028

# 1038

Question Number : 21 Question Id : 16794311538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
'‘HIag H Fds T giEAfea &7
Options:

% 1008
% 1018
« 1028

% 1038

Question Number : 22 Question Id : 16794311539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following rulers DOES NOT belong to the Slave dynasty?

Options:
% Qutub-ud-din Aibak

% Iltutmish
% Balban

» Alauddin Khilji
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Question Number : 22 Question Id : 16794311539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT § ¥ &l @1 oOT% W IA T Tard Jaf 87
Options:
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Question Number : 23 Question Id : 16794311540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
'Subsidiary Alliance' made which native state a “buffer state”. giving strategic advantage to the British?

Options:
% Hyderabad

» Oudh (Awadh)
% Punjab

% Gwalior

Question Number : 23 Question Id : 16794311540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3T T IOTEAR WTE 3 U WETES W A fRE HE TS0 A Hed ey TT g4 feam an?

Options:

« BETETE

a9

% I
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Question Number : 24 Question Id : 16794311541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The capital of Bahrain is ;

Options:
« Manama

% Baku
% Doha

% Dakar

Question Number : 24 Question Id : 16794311541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

gL T TS gl
Options:
 HATAT

dlh

® ™
« EIET

« TP

Question Number : 25 Question Id : 16794311542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
'Birr' is the currency of which country?

Options:
% DBrazil
% Belarus

» Ethiopia

# Ghana

Question Number : 25 Question Id : 16794311542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 26 Question Id : 16794311543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which Article provides for the Secretariat of Parliament?

Options:
% Article 90

% Article 93

% Article 95

« Article 98

Question Number : 26 Question Id : 16794311543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 27 Question Id : 16794311544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Which Schedule of the Indian Constitution provides for validation of certain Acts and Regulations?

Options:
« Seventh Schedule

 Ninth Schedule
% Tenth Schedule

« Twelfth Schedule

Question Number : 27 Question Id : 16794311544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 28 Question Id : 16794311545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which constitutional amendment accorded status of Associate State to Sikkim by ending it's protectorate Kingdom status?

Options:
" 30™ Constitutional Amendment Act, 1972

« 315 Constitutional Amendment Act,1973
v 35™ Constitutional Amendment Act,1974

" 36™ Constitutional Amendment Act,1975

Question Number : 28 Question Id : 16794311545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

g gaufe doue o e o @ =T & BT garcg & ot =g & B =
@ g7

Options:

« 305 Taurfaes Hetue wfRfTEs, 1972 =
+ 313 waunfoer @etue afafETs, 1973
» 353 gadunfas geue sRfETE, 1974 A

. 363 gaurfas wWetus wfofags, 1975 =

Question Number : 29 Question Id : 16794311546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Union Government is going to launch Credit Enhancement Fund (CEF) in July 2018 to facilitate infrastructure
investments by insurance and pension funds.

Options:
% < 200 crore

% < 300 crore
% < 400 crore

& < 500 crore

Question Number : 29 Question Id : 16794311546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 30 Question Id : 16794311547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
According to AfrAsia Bank Global Wealth Migration Review, India is the wealthiest country in the world.

Options:
% Fifth

« Sixth
% FEighth

% Tenth

Question Number : 30 Question Id : 16794311547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 31 Question Id : 16794311548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who among the following is not a well-known Painter?

Options:
# F.N. Souza
% Nandlal Bose

« C.C. Mehta

% Tyeb Mehta

Question Number : 31 Question Id : 16794311548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

ffafeT & ¥ #i7 vfag feer a8 &2

Options:
* Th. Tdd. PS:!T

» T . Agar
 OOE Hgar

Question Number : 32 Question Id : 16794311549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Jumari folk dance is related to which state?
Options:

« Bihar

» Gujarat
% Rajasthan

% Himachal Pradesh

Question Number : 32 Question Id : 16794311549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 33 Question Id : 16794311550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The founder of Suhrawardi order in India was:
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Options:
% Sheikh Nasiruddin Mahmood

» Sheikh Bahaud-din Zakariya
% Sheikh Hamiduddin Nagauri

% Sheikh Badruddin Samarkandi

Question Number : 33 Question Id : 16794311550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 34 Question Id : 16794311551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Dhoni is the Indian cricketer to get Padma Bhushan, the third highest civilian honour.
Options:

x gih

sag'h

% 10t

Question Number : 34 Question Id : 16794311551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

% 89
% 9F
% 109

¢ 11T

Question Number : 35 Question Id : 16794311552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Where is the Union Ministry of Sports and Youth Affairs is going to establish a National Sports Museum?

Options:
% Patiala

% Chandigarh

« New Delhi

» Gurgaon

Question Number : 35 Question Id : 16794311552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 36 Question Id : 16794311553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Scientists from which country have created world’s first 3D printed human corneas
(3D printed thin protective film over eye)?

Options:
« Japan

« UK
# USA

% China

Question Number : 36 Question Id : 16794311553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 37 Question Id : 16794311554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The headquarter of International Olympic Committee is located in which city?

Options:
+« Lausanne
# Geneva

% Bern

% Zurich

Question Number : 37 Question Id : 16794311554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 38 Question Id : 16794311555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which country has gifted a pair of Giant Aldabra tortoise to India as a goodwill gesture?

Options:
% Indonesia

% Malaysia
» Seychelles

% Thailand

Question Number : 38 Question Id : 16794311555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 39 Question Id : 16794311556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The 3™ Annual Meeting of Asian Infrastructure Investment Bank (AIIB) concluded in :
Options:
% New Delhi

w Gurgaon
« Bangalore

« Numbai

Question Number : 39 Question Id : 16794311556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 40 Question Id : 16794311557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Integral Coach Factory (ICF) for first time has rolled out three phase energy efficient eight car MEMU train set
built with stainless steel bodies in

Options:
» Kapurthala

+ Chennai
% Varanasi

% Chittaranjan

Question Number : 40 Question Id : 16794311557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 41 Question Id : 16794311558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
0.89%0.89x0.89—-0.13x0.13x0.13 |

8.9%8.9x8.9+8.9X1.3+1.3%1.3

The value of

Options:
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« 0.01

# 0.76

# 0.076

# 0.0076

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 41 Question Id : 16794311558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0.89%0.89x0.89—-0.13x0.13x0.13

8.9%8.9%8.9+8.9X1.3+1.3%1.3

F T &
Options:

« 0.01

% 0.76

% 0.076

% 0.0076

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 42 Question Id : 16794311559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0.163+ 0.25—0.18 is equal to:

Options:
% 0.233

» 0.234
% 0.170

% 0.198

Question Number : 42 Question Id : 16794311559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
0.163+0.25—0.18 F FA g 2

Options:
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% 0.233
v 0.234

% 0.170

» 0.198

Question Number : 43 Question Id : 16794311560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Let x = 62337 — 2739, then what is the unit’s digit of x ?

Options:
® 2

® 3

4

Question Number : 43 Question Id : 16794311560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT oo, x = 62357 — 2730 | x T SIS & FATH 9T i & 3F HAIM?

Options:

® 2
%3

&4

% 6

Question Number : 44 Question Id : 16794311561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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*377%75 LR
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Options:
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119
« 488

41
x 488

49
% 488
63
% 488
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 44 Question Id : 16794311561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 3 7
Bz—zofo S
3§ o i o ar
53+25—(43+63} B 65 g ——— = ¢l
TR e
Options:
119
« 488
41
% 488
49
% 488
63
% 488

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 45 Question Id : 16794311562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A person spends § of his money on food, g of the remaining on clothes and S of the remaining on transport. If he is left
with ¥ 760, how much money he had in the beginning?

Options:

% < 5,500
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% T 5,680
v T 5.700

% < 6,200

Question Number : 45 Question Id : 16794311562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« T 5,500
« T 5,680
% 5,700

% < 6,200

Question Number : 46 Question Id : 16794311563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The HCF of two numbers is 12 and their sum is 384, How many such pairs of numbers are possible?

Options:
® 9

« B

® 4

Question Number : 46 Question Id : 16794311563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& FSI F HecaA HAMEAF12 § A 3T T7 384 §1 WX F & For vl 13 T 82

Options:

% 9
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8
% 7

% 4

Question Number : 47 Question Id : 16794311564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Let x be the least number which when divided by 32. 48. 90 and 64. the remainders are 20, 36, 78 and 52 respectively.

What is the sum of digits of x ?

Options:
#® 18

® 20
® 21

« 24

Question Number : 47 Question Id : 16794311564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A Ao & wF sgAaE §EIm x0T 32, 48, 90 3 64 ¥ ReanfEE F= W FA: 20, 36, 78 3R
52 1Y 3 UIST &ld &1 X & 30T @ T FAT BT

Options:

% 18

% 20
% 21

« 24

Question Number : 48 Question Id : 16794311565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1

fr:2:2=2:3 : 7,thena:b:cisequal to:
z b

Options:
# 6:14:21
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«w21:14:6
622114
#® 21 :6:14

Question Number : 48 Question Id : 16794311565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

26 : 14 : 21

w21 4 B

6 :21:14

21 8 14

Question Number : 49 Question Id : 16794311566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
By selling 16 articles, a person lost the selling price of 4 articles. What is his loss percent?

Options:
# 16%

Question Number : 49 Question Id : 16794311566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

16 Fxgait #r fachr o, =ufda @ 4 argaft & Fhr 7ou & wA= @i g g1 @ & wfoea @ 82

Options:

% 16%
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50

i

% 3
« 20%

% 25%

Question Number : 50 Question Id : 16794311567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A person marks his goods at 40% above the cost price and allows a discount of 25%. What is his gain percent?
Options:

5%

Question Number : 50 Question Id : 16794311567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T e, 3o TEGHT W AT How ¥ 40% O Rfced FRar § U 25% T Ve ST 8 366
T T FTaera &1 grem?

Options:
« 5%

% 12%
% 17%

% 15%

Question Number : 51 Question Id : 16794311568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The compound interest on ¥ 8,000 for 2 years is T 1,331.20. What is the rate of compound interest per annum
compounded annually?

Options:

# 6%
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« 8%

# 10%

Question Number : 51 Question Id : 16794311568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 99 % 3T T 8,000 # TgfE ==, T 1,331.20 | %% & ¥ wofea 99 ¥ & =rafE s &
2T FIT BeE?

Options:
% 6%
« 8%

% 10%

% 12%

Question Number : 52 Question Id : 16794311569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If the radius of a sphere is increased by 50%. by what percent its volume will increase?

Options:
# 150%

# 175%

" 237.5%

LA

0%

% 2

Question Number : 52 Question Id : 16794311569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofg fBwax & Waw #7 50% g r Sar g, @ 38 9T (3egA) # o siowa & g geire

Options:

% 150%

% 175%
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v 237.5%

% 250%

Question Number : 53 Question Id : 16794311570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A and B take round of a circular path of radius 70 m in opposite directions starting from a point O. When B reaches the

starting point O the first time, he meets A there the third time (other than starting point). What is the ratio of speeds of A
and B?

Options:
w2:1

% 3:1
® 4:1

® 9:4

Question Number : 53 Question Id : 16794311570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A 3 B, ?Dmﬁmﬁwquﬁqoﬁsﬁmg@ﬁvﬁﬁﬁwﬁaﬁ%l B, o1& Ugalr
IR YT FT &g O W wg=rar & & 98 A ¥ foerar & S i Al aR (e Bg & aremn) 8

L0y

Tgem &1 A 3R B T AT F IS F 87

Options:
w2
w3
%4 :1
%9 :4

Question Number : 54 Question Id : 16794311571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A can complete certain work in 40 hours and B can complete the same work in 60 hours. In how many hours will the
work be completed if A leaves 10 hours before the actual completion of the work?

Options:
% 39

® 42
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Question Number : 54 Question Id : 16794311571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A fodlr &1 #T 40 9 F T FT FHhT ¢ 9T B 38 F T 60 U H T X FHAT g1 TG A FH F
JEATS® FACA § 10 9 9@ =ol AT af 98 F fohaed gel # 0 fhar I FHem?

Options:

# 39

% 42

% 44

« 30

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :

2
167943722
Yes

Question Id : 16794311572 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (55 to 56)
Juestion Label - Comprehension

The missing values in the table can be filled based on the data provided

in the table and questions.

Data related to number of employees in different companies and their
qualification as graduate in different streams.

Total

Companies | Employees Science Commerce Arts
A = 30% 30%
B = 40% 35%
450 21% 44% -
D 650 48% - -
E - T 20% 50%

Sub questions

Question Number : 55 Question Id : 16794311573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The average number of Science and Commerce
graduate employees in company A was 259, What is
the total number of employees in company A?

Options:
® 720

" 740
% 762

% 780

Question Number : 56 Question Id : 16794311574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In company D, the ratio of Arts and Commerce
graduates is 4 : 9. What is the number of commerce
graduates in company D?

Options:
« 234

Question Id : 16794311572 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (5510 56)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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ol
A - 30% 30%
B . 40% 35%
C 450 21% 44% -
D 650 48% - -
= - - 20% 50%
Sub questions

Question Number : 55 Question Id : 16794311573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FIAT A #H B 3T It 7 =0+

Fr AFTET 9T HEIET dr 3w

& 259 §1 FUAT A H Fe
FHATAT PN HEIT 4T 27

Options:

» 720

« 740

% 762

% 780

Question Number : 56 Question Id : 16794311574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FIAT D F, For AT aft=T F =aF F
HJIT 4 : 9 g1 Fuar D A aft=g F

T ST GE&IAT F4T 87

Options:
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v 234

% 216

% 224

% 232

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

3
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167943723

Yes

Question Id : 16794311575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (57 to 58)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Study the graph and answer the questions that follows:

Production & Sale of Computers of various company in a months

1000
200
800
700
600
500
400
300
200
100

Sub questions

D E

Company

o

e | it s So0dd

=== INiT Produced

Question Number : 57 Question Id : 16794311576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which company had the highest percentage of sale

with respect to its production?

Options:
o A
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® B

# D

Question Number : 58 Question Id : 16794311577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The total computers sold by A, B and C together is
approximately what percent of the total computers
produced by these companies?

Options:
® 56.8%

# 58%
" 57.9%

# 59.7%

Question Id : 16794311575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Cesticn Label | Comprehiension

AT Mg &7 F{euTa &1 AT 1T F1 3% &

U Hglel A fafdiest hdell & HPeX 3cdigsl 3K fashr
1000
900

800

700

600 _—

500

400 —e— T Y
300 e SCATCE TS

200
100

Sub questions


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 57 Question Id : 16794311576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3o & TeY H g Fuar & fSshr gfaera
TEY e g7

Options:

« A
% B
# C

% D

Question Number : 58 Question Id : 16794311577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A, B TF C ZaRT 3 91T Fel FHOYSI bl
gfaerd, 3d Fai=ar garr @Affa Fe
FIE T SEC H orerereT fhaeT gfderg
gam?

Options:

% 56.8%

% b8%

« 57.9%

% 59.7%

Sub-Section Number: 4
Sub-Section 1d: 167943724
Question Shuffling Allowed : Yes

Question Id : 16794311578 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cesticn Label | Comprehension
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Study the venn diagram that gives the number of candidates who failed
in different subjects.

1.200 candidates appeared in an examination that comprises subjects
Physics, Chemistry and Mathematics. Answer the following questions
based on the information provided in the diagram.

Physics Chemistry

Mathematics

Sub questions

Question Number : 59 Question Id : 16794311579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the percentage of students who passed in all
three subjects?

Options:
# 66%

# 68.25%
o 67.5%

% 69.5%

Question Number : 60 Question Id : 16794311580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the percentage of students who failed in at
least two subjects?
Options:
% 5%

« 5.5%
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Question Id : 16794311578 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label | Comprehension

#= few 717 e =Y #7 3evma w1 s A Rt &
HefedoT Tt #r wwar & 7 ¥

1,200 Reafdai o v 9lem # o1 forar owe sifos
e, e oy v Aiug Buw af@e 9 =y 7 g
T & 3R W Feafaf@a geat #7 5eaR) &

LTl ATA

D

aTford

Sub questions

Question Number : 59 Question Id : 16794311579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

et Rrwat & Rraer wfdee feamdf sedor
B

Options:

% 66%
% 68.25%
« 67.5%

% 69.5%
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Question Number : 60 Question Id : 16794311580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T ¥ &F & Tvar # Gaa et

HeJedmor gu?
Options:

% 5%
« 5.5%
% 25%

% B5%

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

eneral English

4
167943360
0

0

No

No

0

20

eneral English

167943419
1

Online
Mandatory
16

16

20

Yes

No

1
167943725
Yes

Question Number : 61 Question Id : 16794311581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

From the given options choose the one that would mean the SAME as harmony.

Options:
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% discord
% friction
» unity

% difference

Question Number : 61 Question Id : 16794311581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options choose the one that would mean the SAME as harmony.

Options:
% discord

% friction
» unity

% difference

Question Number : 62 Question Id : 16794311582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options choose the one that means the OPPOSITE of significant.

Options:
» meaningless

% important
% relevant

» outstanding

Question Number : 62 Question Id : 16794311582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

From the given options choose the one that means the OPPOSITE of significant.
Options:

» meaningless
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% important
% relevant

» outstanding

Question Number : 63 Question Id : 16794311583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Detect the mis-spelt word from the given options.

Options:
% pledge

% pitiable
% plunder

» proublem

Question Number : 63 Question Id : 16794311583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Detect the mis-spelt word from the given options.
Options:

% pledge

% pitiable
% plunder

» broublem

Question Number : 64 Question Id : 16794311584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

My sister and I can never see eye to eye when it comes to choosing a place to go for a holiday.
Options:
% the centre of a storm
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» agree with someone

% to feel awkward

% to watch someone carefully

Question Number : 64 Question Id : 16794311584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence
given below.

My sister and I can never see eye to eve when it comes to choosing a place to go for a holiday.

Options:
% the centre of a storm

» agree with someone

% to feel awkward

% to watch someone carefully

Question Number : 65 Question Id : 16794311585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options, select the word that can substitute the underlined words in the sentence given below.

I think the number of places vou want to visit within four days is rather ambitious. You can’t enjoy any of the places
propetly.

Options:

« agenda

% menu
% forum

» itinerary

Question Number : 65 Question Id : 16794311585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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From the given options, select the word that can substitute the underlined words in the sentence given below.

I think the number of places you want to visit within four days is rather ambitious. You can’t enjoy any of the places
propetly.

Options:

« agenda

% menu
% forum

» itinerary

Question Number : 66 Question Id : 16794311586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

App-based on-line shopping is enticing. Even older people like my mother it from time to time.

Options:
« fall away

% fall behind
« fall for

» fall upon

Question Number : 66 Question Id : 16794311586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

App-based on-line shopping is enticing. Even older people like my mother it from time to time.

Options:
« fall away

% fall behind
« fall for

 fall upon
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Question Number : 67 Question Id : 16794311587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

Whatever the problem may be, you with it. There’s no use time.
Options:
« deal; waste

« are dealing: wasted
w dealt; to waste

» have to deal; wasting

Question Number : 67 Question Id : 16794311587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

Whatever the problem may be. you with it. There’s no use time.
Options:
« deal; waste

« are dealing: wasted
« dealt; to waste

» have to deal; wasting

Question Number : 68 Question Id : 16794311588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Fill in the blank in the sentence given below with the correct option.

Delhi is very hot and dry. My grandparents . I wish they in a cooler place.
Options:
% exhaust; am staying

» feel exhausted: stayed

% exhausting: staying
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» are exhausting; are staving

Question Number : 68 Question Id : 16794311588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

Delhi is very hot and dry. My grandparents . I wish they in a cooler place.

Options:
» exhaust; am staying

» feel exhausted. stayed
» exhausting; staying

% are exhausting; are staying

Question Number : 69 Question Id : 16794311589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

This article on millennials is interesting.
Options:
% fair

% fairer
% fairest

» fairly

Question Number : 69 Question Id : 16794311589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank in the sentence given below with the correct option.

This article on millennials is interesting.
Options:
% fair
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% fairer
% fairest

» fairly

Question Number : 70 Question Id : 16794311590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Given below is an incorrect sentence. From the given options, select the part that has an error.

It has been observed that many of us can’t live without there mobile phones even when we are surrounded by family
and friends.

Options:
% It has been observed

« live without there
% even when

« family and friends

Question Number : 70 Question Id : 16794311590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Given below is an incorrect sentence. From the given options, select the part that has an error.

It has been observed that many of us can’t live without there mobile phones even when we are surrounded by family
and friends.

Options:
% It has been observed

 live without there
% even when

» family and friends

Question Number : 71 Question Id : 16794311591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an incorrect sentence. From the given options. select the part that has an error.

Not even ill-health has stopped the 71 vear old Tabarez, Uruguay’s national team coach, which was expected to quit in
2016 but has carried on with the help of a walking stick or electric wheelchair.
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Options:
% Not even ill-health

% the 71 year old
»» Which was expected to quit

w Wwith the help of

Question Number : 71 Question Id : 16794311591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an incorrect sentence. From the given options. select the part that has an error.

Not even ill-health has stopped the 71 vear old Tabarez, Uruguay’s national team coach, which was expected to quit in
2016 but has carried on with the help of a walking stick or electric wheelchair.

Options:
% Not even ill-health

% the 71 year old
» Which was expected to quit

w Wwith the help of

Question Number : 72 Question Id : 16794311592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the PASSIVE VOICE form of the given sentence.

A little appreciation from teachers can reduce destructive behavior of adolescents. reveals a new study.
Options:
« Adolescents stop behaving in a destructive manner if teachers appreciate them. A new study reveals this.

» A new study reveals that destructive behavior of adolescents can be reduced by a little appreciation from teachers.

% A little appreciation from teachers is helpful in stopping destructive behavior of adolescents.

» Adolescents, a new study reveals, stop behaving in a destructive manner if teachers appreciate them.

Question Number : 72 Question Id : 16794311592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Select the PASSIVE VOICE form of the given sentence.

A little appreciation from teachers can reduce destructive behavior of adolescents. reveals a new study.

Options:
« Adolescents stop behaving in a destructive manner if teachers appreciate them. A new study reveals this.

» A new study reveals that destructive behavior of adolescents can be reduced by a little appreciation from teachers.

« A little appreciation from teachers 1s helpful in stopping destructive behavior of adolescents.

« Adolescents, a new study reveals, stop behaving in a destructive manner if teachers appreciate them.

Question Number : 73 Question Id : 16794311593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the indirect form of narration of the given sentence.

My friend Sujata said to me, *You go to Sarojini Nagar if you want to buy good quality clothes at affordable prices.”

Options:
% My friend Sujata said to me, go to Sarojini Nagar if you want to buy good quality clothes at affordable prices

My friend Sujata told me, why you don’t go to Sarojini Nagar if you want to buy good quality clothes at affordable
% prices.

My friend Sujata suggested (to me) that I go to Sarojini Nagar if I wanted to buy good quality clothes at affordable
 prices.

5 My friend Sujata advised me to go to Sarojini Nagar if I want to buy good quality clothes at affordable prices.

Question Number : 73 Question Id : 16794311593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the indirect form of narration of the given sentence.

My friend Sujata said to me. “You go to Sarojini Nagar if you want to buy good quality clothes at affordable prices.”

Options:
« My friend Sujata said to me, go to Sarojini Nagar if you want to buy good quality clothes at affordable prices

My friend Sujata told me, why you don’t go to Sarojini Nagar if you want to buy good quality clothes at affordable
% prices.

My friend Sujata suggested (to me) that I go to Sarojini Nagar if T wanted to buy good quality clothes at affordable
 prices.

« My friend Sujata advised me to go to Sarojini Nagar if I want to buy good quality clothes at affordable prices.
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Question Number : 74 Question Id : 16794311594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

White giraffes are extremely rare. A wild life photographer caught it on camera for the first time. This happened in
South Africa.

Options:
» Extremely rare white giraffes caught on camera by a wild life photographer in South Africa.

% In South Africa, a wild life photographer caught white giraffes that are extremely rare.
» As white giraffes are extremely rare, a wild life photographer shot one in South Aftrica.

% South African white giraffe. which are extremely rare, caught by wild life photographer.

Question Number : 74 Question Id : 16794311594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the best option to combine the given sentences into a single sentence.

White giraffes are extremely rare. A wild life photographer caught it on camera for the first time. This happened in
South Africa.

Options:
» Extremely rare white giraffes caught on camera by a wild life photographer in South Africa.

% In South Africa. a wild life photographer caught white giraffes that are extremely rare.
% As white giraffes are extremely rare, a wild life photographer shot one in South Africa.

% South African white giraffe. which are extremely rare, caught by wild life photographer.

Question Number : 75 Question Id : 16794311595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
Here and there in the desert are Springs of water that come from deep down under the ground---so deep that the Sun

cannot dry them up. Wherever there is a spring trees grow tall and graceful making a cool green shady place called an
% oasis.

Here and there in the desert are springs of water that come from deep down under the ground---so deep that the sun
cannot dry them up. Wherever, there is a spring, trees grow tall and graceful. making a cool, green shady place called an
« 0asis.
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Here and there in the Desert are Springs of water that come from deep down under the ground---so deep that the Sun
cannot dry them up. wherever there is a spring trees grow tall and graceful, making a cool, green shady place called an
% Oasis.

Here And There In The Desert Are Springs Of Water That Come From Deep Down Under The Ground---So Deep That
The Sun Cannot Dry Them U Wherever There Is A Spring, Trees Grow Tall And Graceful, Making A Cool green shady
5 place called an Oasis.

Question Number : 75 Question Id : 16794311595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
Here and there in the desert are Springs of water that come from deep down under the ground---so deep that the Sun
cannot dry them up. Wherever there is a spring trees grow tall and graceful making a cool green shady place called an
% oasis.

Here and there in the desert are springs of water that come from deep down under the ground---so deep that the sun
cannot dry them up. Wherever, there is a spring, trees grow tall and graceful, making a cool, green shady place called an
« 0asis.

Here and there in the Desert are Springs of water that come from deep down under the ground---so deep that the Sun
cannot dry them up. wherever there is a spring trees grow tall and graceful, making a cool, green shady place called an
% Oasis.

Here And There In The Desert Are Springs Of Water That Come From Deep Down Under The Ground---So Deep That
The Sun Cannot Dry Them U Wherever There Is A Spring, Trees Grow Tall And Graceful, Making A Cool green shady
% place called an Oasis.

Sub-Section Number: 2
Sub-Section 1d: 167943726
Question Shuffling Allowed : Yes

Question Id : 16794311596 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label @ Comprehension


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Read The following passage and answer the questions given below:

An amateur rugby player. who was forced to eat the body parts of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his opponents.
Gustavo Carlos Zerbino. was once Uruguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. He spoke particularly to Suarez whose 2014
world cup had ended in ignominy afier he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiscretion by a very emotional player. The
Suarez that we see now is in control of his emotions....He is an
excellent player and human being. ........ I told him to focus on how he
plays and not what others do on the field. I told the players that to have
extraordinary results you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to claim it.”
Zerbino said.

The plane crash in October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15.000 ft with temperature as low
as -35 degree centigrade with low oxygen and no water and no water or
food. A second year medical student then. he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film ‘Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino, who had worked with the national team for the last

12 years, told the Uruguavan squad.

Sub questions

Question Number : 76 Question Id : 16794311597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct option.

Who is this write-up about?
Options:
% Luis Suarez, Uruguayan striker

Gustavo Carlos Zerbino, Uruguay’s mental
» conditioning coach

% Oscar Tabarez, Uruguay coach
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« Giorgio Chiellini. Italian defender.

Question Number : 77 Question Id : 16794311598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the purpose of this write-up?

Options:
To highlight the qualities of G. C. Zerboni and his
role in inspiring the Uruguayan team in the 2018
» FIFA World Cup.

To bring out the meaning of teamwork as opposed to
% individual excellence.

To show how mental conditioning coaches help
« Individuals attain peak performance.

To list the strength and weaknesses of Uruguayan
« players playing in the world cup 2018.

Question Number : 78 Question Id : 16794311599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the CORRECT combination.

Why is the 1972 air crash mentioned in this write-
up?

a. Zerboni is one of the few lucky survivors of
the 1972 air crash in the Andes.

b. The 1993 film ‘Alive’ is based on this
incident.

c. It underscores the determination and courage
of Gustavo Zerboni.

d. To highlight Zerboni’s practical
considerations as a medical student in a
desperate situation.

e. To prove how strong the survival instinct is
in all of us when there are hardly any options.

To bring out Zerboni’s mental strength even when he
was just a medical student.

Options:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

® B.,b_.':,d_.
% b.c,e I
wacdf

x feab

GET IT ON
Google Play

Question Number : 79 Question Id : 16794311600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Why did Zerbino speak particularly to Suarez when
he came to Russia for the world cup?
Options:

Zerbino was very fond of Suarez and preferred him
« over other players.

Zerboni is aware of the strengths and weaknesses of
» all players, particularly Suarez’s emotional nature.

Zerboni did not want Suarez to fight with his
« opponents to defend him (Gustavo Zerboni).

Zerboni knew Suarez is a moody player and he
% could even refuse to play at the last moment.

Question Number : 80 Question Id : 16794311601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Refer to second paragraph last two sentences. What
lesson can we learn from Zerboni’s advice to the
Uruguayan squad?
Options:

% We have to achieve our goal by fair means or foul.

Every possible means can be used to keep our rivals
» out of our way.

To be successful, we must know our goal and then
» Work very hard to achieve it.
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There is no need to be scrupulous to achieve the
% goal we have in mind.

Question Id : 16794311596 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (76 to 80)
Juestion Label @ Comprehension

Read The following passage and answer the questions given below:

An amateur rugby player. who was forced to eat the body parts of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his opponents.
Gustavo Carlos Zerbino. was once Uruguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. He spoke particularly to Suarez whose 2014
world cup had ended in ignominy after he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiscretion by a very emotional player. The
Suarez that we see now is in control of his emotions....He is an
excellent player and human being. ........ I told him to focus on how he
plays and not what others do on the field. I told the players that to have
extraordinary results you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to claim it.”
Zerbino said.

The plane crash in October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15.000 ft with temperature as low
as -35 degree centigrade with low oxygen and no water and no water or
food. A second year medical student then. he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film ‘Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino. who had worked with the national team for the last

12 years, told the Uruguayan squad.

Sub questions

Question Number : 76 Question Id : 16794311597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Choose the correct option.

Who is this write-up about?

Options:
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% Luis Suarez, Uruguayan striker

Gustavo Carlos Zerbino, Uruguay’s mental
» conditioning coach

% Oscar Tabarez, Uruguay coach

» Giorgio Chiellini, Italian defender.

Question Number : 77 Question Id : 16794311598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the purpose of this write-up?

Options:
To highlight the qualities of G. C. Zerboni and his
role in inspiring the Uruguayan team in the 2018
» FIFA World Cup.

To bring out the meaning of teamwork as opposed to
# individual excellence.

To show how mental conditioning coaches help
» individuals attain peak performance.

To list the strength and weaknesses of Uruguayan
% Pplayers playing in the world cup 2018.

Question Number : 78 Question Id : 16794311599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Choose the CORRECT combination.

Why is the 1972 air crash mentioned in this write-
up?

a. Zerboni is one of the few lucky survivors of
the 1972 air crash in the Andes.

b. The 1993 film ‘Alive’ is based on this
incident.

¢. It underscores the determination and courage
of Gustavo Zerboni.

d. To highlight Zerboni’s practical
considerations as a medical student in a
desperate situation.

e. To prove how strong the survival instinct is
in all of us when there are hardly any options.

To bring out Zerboni’s mental strength even when he
was just a medical student.
Options:

% d. b.' c. d.‘

% b.cef
sacdf

x fe.a b

Question Number : 79 Question Id : 16794311600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Why did Zerbino speak particularly to Suarez when
he came to Russia for the world cup?
Options:
Zerbino was very fond of Suarez and preferred him
« over other players.

Zerboni is aware of the strengths and weaknesses of
» all players, particularly Suarez’s emotional nature.

Zerboni did not want Suarez to fight with his
« opponents to defend him (Gustavo Zerboni).
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Zerboni knew Suarez is a moody player and he
» could even refuse to play at the last moment.

Question Number : 80 Question Id : 16794311601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Refer to second paragraph last two sentences. What
lesson can we learn from Zerboni’s advice to the
Uruguayan squad?
Options:

% We have to achieve our goal by fair means or foul.

Everv possible means can be used to keep our rivals
« out of our way.

To be successful, we must know our goal and then
» work very hard to achieve it.

There is no need to be scrupulous to achieve the
» goal we have in mind.
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Question Number : 81 Question Id : 16794311603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 82 Question Id : 16794311604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 83 Question Id : 16794311605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 84 Question Id : 16794311606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 85 Question Id : 16794311607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Id : 16794311602 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (81 to 85)
Juestion Label - Comprehension
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Sub questions

Question Number : 81 Question Id : 16794311603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 82 Question Id : 16794311604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 83 Question Id : 16794311605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 84 Question Id : 16794311606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 85 Question Id : 16794311607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Sub-Section Number: 2
Sub-Section Id: 167943728
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 16794311608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 86 Question Id : 16794311608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 87 Question Id : 16794311609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 87 Question Id : 16794311609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 88 Question Id : 16794311610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 88 Question Id : 16794311610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

FaT AT

Options:

v 0 T 3T FT AES aren

% [T 71 39T & F ATS JTe

% AT
% GITRTLr

Question Number : 89 Question Id : 16794311611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 89 Question Id : 16794311611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 90 Question Id : 16794311612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 90 Question Id : 16794311612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 91 Question Id : 16794311613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 91 Question Id : 16794311613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 92 Question Id : 16794311614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T & wia-ar weg e 22
Options:

% chlcd


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 92 Question Id : 16794311614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 93 Question Id : 16794311615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 93 Question Id : 16794311615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 94 Question Id : 16794311616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 94 Question Id : 16794311616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 95 Question Id : 16794311617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 95 Question Id : 16794311617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 96 Question Id : 16794311618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 96 Question Id : 16794311618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 97 Question Id : 16794311619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 97 Question Id : 16794311619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 98 Question Id : 16794311620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 98 Question Id : 16794311620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

T F qAETET g

Options:

%ﬂ?ﬁ‘
% b
® YO

o o

GET IT ON
Google Play

Question Number : 99 Question Id : 16794311621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 99 Question Id : 16794311621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:

Question Number : 100 Question Id : 16794311622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Question Number : 100 Question Id : 16794311622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Display Number Panel:

Group All Questions:

subject Belated

6
167943362
0

0
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Online
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Sub-Section Number: 1
Sub-Section 1d: 167943729
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794311623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a communication pathway connecting two or more devices of a computer?
Options:

« Bus

% Memory

# UPS

% Control Unit (CU)

Question Number : 101 Question Id : 16794311623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 102 Question 1d : 16794311624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The number of lines used in a data bus is referred to as the of the data bus.
Options:

% length

« density
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« width

« volatility

Question Number : 102 Question Id : 16794311624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Question Number : 103 Question Id : 16794311625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

With respect to system buses, SCSI stands for:
Options:

% Small Computer Side Interface

» Small Computer System Interface

% Solid Computer System Interface

% Synchronous Computer System Interface

Question Number : 103 Question 1d : 16794311625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Options:
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Question Number : 104 Question Id : 16794311626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With respect to Peripheral Component Interconnect (PCI), the letter ‘e’ in PCle stands for:

Options:
# Extreme

 EXpress
% Excess

# Element

Question Number : 104 Question Id : 16794311626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 105 Question Id : 16794311627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

With respect to size. which of the following represents the correct relationships between different categories of cache
memory?

Options:

vwLl1<1L2<13

# L1<L3<L2
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# L2<L1<13

# L3<L2<L1

Question Number : 105 Question Id ;: 16794311627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

wll €12 <13
L1 <L3 <L2
xl2 <L1<L3

xl3 < L2 <L1

Question Number : 106 Question Id : 16794311628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
With respect to accessing speed, which of the following represents the correct relationships between different categories
of cache memory?

Options:
# Ll1<L2<13

# L1<L3<L2
# LZ<L1<I3

v L3<L2<L1

Question Number : 106 Question Id : 16794311628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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it 87

Options:
i< 213
% Ll< L3 <2

L2 <L1 <L3
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»L3 < L2 < L1

Question Number : 107 Question Id : 16794311629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Identify the valid cache organisation techniques:
(1) Direct
(i)  Associative
(iii)  Set-associative

Options:

% (1) and (ii) only

s (i) and (iii) only
% (1) and (ii1) only

(@), (i) and (i)

Question Number : 107 Question Id : 16794311629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT F TS dhailenl sl Tg=Tel 1
(i) =TFtEe (Jege)
(i) TaEaTes
(iiiy Fe-vEIACieT

Options:

» e (i) AR (i)
. waer (i) AT (i)
w e (i) AR (iii)

» (0), (i) 3R (i)

Question Number : 108 Question Id : 16794311630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following data transfer schemes requires constant monitoring by the CPU of the peripheral devices?

Options:
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» Programmed IO
% Interrupt-driven 10
% Direct Memory Access (DMA)

» Both, Interrupt-driven IO and DMA

Question Number : 108 Question Id : 16794311630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fr=faf@a Sor Tum=araTer At & & Fa ol syeol & @y, (CPU) garr faRar feemar #r
HERTAT T 87

Options:

o SIS (FARRIE) 3R (10)

 SETE-ZBa 2.3 (I0)

» EEE AANT tsaE (DMA)

., Grdr, SeITe-gIsad 1=.34T. (I0) 3K Sr.vA.T. (DMA)

Question Number : 109 Question Id : 16794311631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
With respect to system bus, are used to control the access to and the use of the data and address lines.

Options:
% Address lines

% Decoders
% Encoders

« Control lines

Question Number : 109 Question Id : 16794311631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frew 79 & g9y &, &1 39T 327 AR U2W SEeE #T TR e AT 39ater #r Aufa
T F o fmar = 1

Options:
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o HEr TE

Question Number : 110 Question Id : 16794311632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following determines the time it takes for devices to coordinate the use of the bus?
Options:

» Propagation delay

% Clock delay
% Cycle delay

» Data transfer delay

Question Number : 110 Question Id : 16794311632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ta # @ FiF O 95 & 39997 H TAAAT Fld a1 3989 & T o9 S 5RT &+
freifa & g7

Options:

v e B

% Foller For
« TS B

Question Number : 111 Question Id : 16794311633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following refers to a memory access mechanism in which the time to access a given location is constant
and independent of the sequence of prior accesses?
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Options:
+ Random access

% Direct access

% Sequential access

% Associative

Question Number : 111 Question Id : 16794311633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
mﬁﬁ#mmmmﬁmm%mﬁm%@mmm@
# FAT fRaT 3R F-0F8F 3gFHA W TTAT e 87

Options:

« STEYET UH
% THeaT9ge vug

» TEfaefes

Question Number : 112 Question Id : 16794311634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of addressable memory units for a 10-bit size address bus is:

Options:
# 512

# 256
# 1023

« 1024

Question Number : 112 Question Id : 16794311634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
10-fE H&R I 029 99 & 99 H vihed AA sweal fr geur e g 27

Options:
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% 512
% 256
% 1023

« 1024

Question Number : 113 Question Id : 16794311635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Opcodes are represented by abbreviations called:

Options:
# Lexemes
« Binary codes

w Operators

« Nnemonics

Question Number : 113 Question Id : 16794311635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HTIHSH (Opcode) T FET H FAT Hgl 1T &7

Options:

% oFEFT
. SIS HIS
% HTEH

v AT

Question Number : 114 Question Id : 16794311636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘With respect to cache organisation, direct mapping maps each block of main memory into possible cache line.
Options:

» Only one
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# Two
# Four

« Eight

Question Number : 114 Question 1d : 16794311636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U HEASSRIT F Hag H, SralEe Hier Taifaa &er oA A AT ARG (ST ) F T3S
solieh T HT FT 2

Options:

~ el TH

Question Number : 115 Question Id : 16794311637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
State whether the following statements are true or false.

Statements:
(1) SCSI is itself a type of bus used to support local disk drives and other peripherals.
(11) A serial port could be used to support a printer or scanner.

Options:
» (1) True, (ii) True
% (1) True, (ii) False

% (1) False, (ii) True

% (1) False, (ii) False

Question Number : 115 Question Id : 16794311637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Iz 5a¢ & =T § o #i9 O Fua 57 a1 38T T

FUod:

(i) TH.H.TE.HE. (SCS|) Toa: TF IE I 77 g, Fuer 393 are B 359 3k =g
iR (ATl FF §ue w= & e fFar S g
(i) FRT a1 Toax goie & T Oas 9T F1 39T R S 9T gl

Options:

» (1) |4, (i) ¥

« () Fc4, (i) FFT
% () 3", (i) e

« (1) 38T (i) T

Question Number : 116 Question Id : 16794311638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
State whether the following statements are true or false.

Statements:
(1) For main memory, the unit of transfer is the number of bytes read out of or written into memory at a time.
(i)  The unit of transfer need not equal a word or an addressable unit.

Options:
% (1) True, (ii) True
% (1) True, (ii) False

» (1) False, (ii) True

% (1) False, (ii) False

Question Number : 116 Question Id : 16794311638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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77 Ta” F Feafof@a § ¥ 9 o Fya g3 o1 3T 7

HYd:
() = AR (=T Tf) & Fw, sueaor & 5o & 790 # #A0 ((5f) # & e v o
ofeT azew & g=mr B 2
(i) TR #r SHE R ereg T IS Il F AT FET ger e

Options:

« (1) |, (ii) T
« () |4, (i) FEcT
» (1) 38T, (i) §cT

« (i) 3/ (i) 3/@eT

Question Number : 117 Question Id : 16794311639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following statements is correct?
(1) A hard disk is also used to provide an extension to the main memory known as virtual memory.
(i) DRAM is faster than SRAM.
(iii)  External. nonvolatile memory is also referred to as ‘secondary memory’ or ‘auxiliary memory’.
Options:
% Statements (1) and (i) are correct

% Statements (i1) and (ii1) are correct
» Statements (i) and (iii) are correct

» Statements (1), (ii) and (iii) are correct

Question Number : 117 Question Id : 16794311639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Tafaf@T Fuat & & Fia @ wér 22

(i) T3S AANT & T A A AT AS FAAN (TEF FHA) B TFHEUS TG S H ¢ @75 BEw
T 39T off fFFar Jrar &

(i) TH.ANC.UA. (SRAM) & o= # SLHR.U.TA. (DRAM) 3 E
(i) sTEdr, AAareeEe ((R-3TER) A F THsh AW o el A F w7 Ff S
STar g
Options:

. U (i) 3R (i) Im §
. U (i) 3 (i) 7T &
o FUF (i) AR (iii) T E

. FF (i), (i) 3% (i) I== §

Question Number : 118 Question Id : 16794311640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following sequences of one-address instructions can be used to evaluate Y = (A — B)/(C+Dx=E)?
Options:
LOADD
MPY E
ADDC
STORE Y
LOAD A
SUB B
DIVY
« STORE Y

LOADD
MPY E
ADDC
LOADA
STORE Y
5UB B
DIVY

# STOREY
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LOADD
ADDC
MPY E
STORE Y
LOAD A
SUBB
DIVY

# STOREY

LOADD
MPY E
ADDC
STORE Y
LOADA
DIVY
SUBB

# STOREY

Question Number : 118 Question Id : 16794311640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frrafofea & & 57 a=-03w STeoee & @Al & 399 Y = (A— B)/(C+DxE) # Hedlsa i
* o & o1 g 87

Options:

LOAD D

MPY E
ADD C
STORE Y
LOAD A
SUB B
DIV Y

, STORE Y
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LOAD D
MPY E
ADD C
LOAD A
STORE Y
SUB B
DIV'Y

x STORE Y

LOAD D
ADD C
MPY E
STORE Y
LOAD A
SUB B
DIV'Y

x STORE Y

LOAD D
MPY E
ADD C
STORE Y
LOAD A
DIV Y
SUB B

¢ STORE ¥

GET IT ON
Google Play

Question Number : 119 Question 1d : 16794311641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Which of the following sequences of three-address instructions can be used to evaluate Y = (A — B)/(C+DxE)?
Options:

SUBY,A. B

MPYT.D.E

ADDE T, €
« DIVTLY T

SUB Y. A.B

MPYT.D.E

ADDT. T.C
% DIVY, T, T

SUBY . A.B

ADDT. T C

MPYT.D.E
#« DIVY, Y, T

SUBY. A.B

MY TDE

ADD T, T, €
IV YT

Question Number : 119 Question 1d : 16794311641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
feafafa # & & 9-039 STcaed & FgHAT @1 394 Y = (A— B)/(C+DXE) & Hedieha sl &
T fFar = genar 27

Options:

SUB Y, A, B
MPY 1, D, E
ADD T, T, C
« DIVT, Y, T

SUB Y, A, B
MEY T, B E
ADD T, T, C
« DIVY, T, T
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SUB Y, A, B
ADD T, T, C
MPY T, D, E
« DIVY, Y, T

SUB Y, A, B
MPY T, D, E
Ty S il O
FDIN% YT

Question Number : 120 Question Id : 16794311642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
State whether the following statements are true or false.
(1) With one-address instructions, the programmer generally has available only one general-purpose register, the
accumulator.
(ii)  Zero-address instructions are applicable to a special memory organization called a stack.

Options:
» (1) True, (i) True
% (1) True, (i1) False

% (i) False, (ii) True

% (1) False, (ii) False

Question Number : 120 Question Id : 16794311642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

77 Ta” F Teafof@a # ¥ 9 o Fya g3 o1 a3EeT 7

(i) T9-U3F SECoreed & oI, SmaT & 918 HH d W F9d U6 AeRd WOt e, THFIFgeiel
g gl
(i) SRI-T3W TECFRTH TH TS HANT AR (R i v ea) ¥ B aep e &
TEF FEr AT 2

Options:
() |71, (i) =7
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« () |4, (i) T
% (1) 38T, (i) H

« (i) 37T (i) 3/ =T

Subject Related

Group Number : 7

Group Id: 167943363
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

subject Related

Section Id : 167943422

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943730
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 16794311643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A process is a(n) entity, whereas a program is a(n) entity.
Options:

« Passive, Passive

« Passive, Active

» Active, Passive
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w Active, Active

Question Number : 121 Question Id : 16794311643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

9 (FfFan) e uRdr (T g e 9Ene TR (e 2

Options:

» T, At

Question Number : 122 Question Id : 16794311644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is NOT a file manipulation system call in the Windows operating system?

Options:
% CreateFile()

« ReadFile()
5 WriteFile()

» CloseFile()

Question Number : 122 Question Id : 16794311644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

faer smoifeer fowew & afof@a & & i a1 wed Afagees fBwen Fio 7@ 872
Options:

« CreateFile()

« ReadFile()

« WriteFile()
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» CloseFile()

Question Number : 123 Question Id : 16794311645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
In , one thread immediately terminates the target thread.
Options:

» Asynchronous cancellation
% Synchronous cancellation

% Deferred cancellation

» Both deferred and asynchronous cancellation

Question Number : 123 Question Id : 16794311645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
H, U U8 9 T 95 H AT FL g

Options:

" 315|:~¢4'=h|'|?+=h IR0 (asynchronous cancellation)

., JeTshITerk TEERUT (synchronous cancellation)

« Tuf¥frg Eetor (Deferred cancellation)

., TR (Deferred) 3 3gegeriarF (asynchronous) TERRIOT gl

Question Number : 124 Question Id : 16794311646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Suppose that a process is in ‘BLOCKED?’ state waiting for some I/O service. When the service is completed, it goes to
the state.

Options:
% running

» ready

% suspended
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% terminated

Question Number : 124 Question Id : 16794311646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A1 Sifee 5 ‘BLOCKED' fufa # 918w Fo /0 wfw & v gefema g1 =@ sfaw off & =l §,
ot T feufay & am o &

Options:

v &
AT

Question Number : 125 Question Id : 16794311647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If there are 64 segments, each of size 2KB, then how many bits should a logical address have?

Options:

% 11 bits
% 6 bits
% 5 bits

« 17 bits

Question Number : 125 Question 1d : 16794311647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
afz 64 TeTHT &, YAF 1 HHR 2KB 2T &, & dleed t2H H fFas few @ feee

Options:

. 11 ew
. 6 foew

% 5 foew
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v 17 s

Question Number : 126 Question Id : 16794311648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statements is FALSE?

Options:
» Atrap is a hardware-generated interrupt caused either by an error or a user request.

% An operating system is interrupt-driven.
% A bootstrap program is loaded at power-up or reboot.

% The program running at all times on a computer is the kernel.

Question Number : 126 Question Id : 16794311648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AFeT § ¥ ST & FUF Tog &7
Options:

, 39 UF FESI-eRES FEUE § S A Al BREr IR A LR (ST ReEe () & HRom e

« ATRIET BT seT<-35a &

. STET SNNH H TeR-3T A J9g W s har amar g

, O W & TAT T @ IIH Foiel g

Question Number : 127 Question I1d : 16794311649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Match the following:

List-1 List-2
[) Long-term scheduler A) Swapping
IT) Medium-term scheduler B) Job Scheduling
I1T) Short-term scheduler C) CPU Scheduling
Options:
x I-C. II-A_ TII-B
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i A TBBIIRG
¢ I-B. II-A, TI-C

x I-A, II-C, II-B

Question Number : 127 Question Id : 16794311649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=@ = fee #:1
e el -2
) FeT-2 YSTER A) F=fET
) #Hfsoa-za d=TR B) e sgferer
) erc-ed ATTER C) drdrg. AT
Options:
« I-C, II-A, 1II-B
< I-A, 1I-B, 1lI-C
» B, 1I-A, 11I-C
x A, 1I-C, 1L

Question Number : 128 Question Id : 16794311650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following will be used for a system having multiple instances of a resource type?

Options:
» Resource-allocation graph
» Banker’s algorithm

% Wait-for graph

» Semaphores

Question Number : 128 Question Id : 16794311650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
fefafta # & frmer s e onv (Fave 99R) & sg-rvera e fees & R B smeem?

Options:

» NEE-3ET I%
v §hT TemRER
%é?—q;ﬁw

% TATRY

Question Number : 129 Question Id : 16794311651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A computer installation has 1000 KB of main memory. Jobs arrive and finish in the following sequence.
Job 1 requiring 200 KB arrives

Job 2 requiring 350 KB arrives

Job 3 requiring 300 KB arrives

Job 1 finishes

Job 4 requiring 120 KB arrives

Job 5 requiring 150 KB arrives

Job 6 requiring 70 KB arrives

Between best-fit and first-fit. which one will perform better for this process sequence?
Options:

« First-fit

% Best-fit

« DBoth, first-fit and best-fit

% Cannot be determined

Question Number : 129 Question Id : 16794311651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 130 Question Id : 16794311652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following table and answer the given question:

Process CPU Arrival
D Burst Time
P1 5 0
P2 7 2
P3 3 3

Which of the following options represents the completion order of the three processes under the
FCFS (first come, first served) and RR (round robin) policies (with CPU quantum of 2 time units)?

Options:
v FCFS:PL P2 P3 and RR: P3, P1, P2
% FCFS: P3,P2, Pl and RR: P3, P2, P1

« FCFS: P1, P2, P3 and RR: P1, P2, P3
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% FCFS:P1,P3.P2and RR:P1, P2 P3

Question Number : 130 Question Id : 16794311652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

et arfere 9T =R =¥ 3t ffw 917 woF & 3eaw &

gaw | @ | e

LY

E S Cra AT
5
7
3

P1

P2

L N O

P3

o § O Fi9 3 TFeT tE.U.Uh.TE. (T8 I3, T8 9T T HTHT. (TES Thew) Afadr
(2 3 gfew & @Y FEIEH F AY) F TET AT FERATHT F FATTS FH P AT 872

Options:

» TRELTE.TH. : P1, P2, P3 3R 3R : P3, P1, P2
+ TE.IEL.UE.UH. : P3, P2, P1 3T 3IT.3.: P3, P2, P1
. THIALTHETHE.: P1, P2, P3 3T 3X.T.: P1, P2, P3

. TEELUE.TE.: P1, P3, P2 3t 3.3 : P1, P2, P3

Question Number : 131 Question Id : 16794311653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following page reference string:

1,2:3,2.4,1.3.2, 41

Assume that there are three page frames which are initially empty. Let LRU, FIFO and OPTIMAL denote the number of
page faults under the corresponding page replacement strategy. Then, which of the following expressions is true?

Options:

# LRU=FIFO=0PTIMAL
# FIFO < OPTIMAL <LRU
# FIFO=QOPTIMAL

 OPTIMAL < FIFO<LRU
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Question Number : 131 Question Id : 16794311653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT o9 g B W =R F: 1

1.2 8 2.4 1.3 2 4 1

A7 o F 89 &9 95 vrg & S IR § @rer g1 LRU, FIFO 3y OPTIMAL 34T 9= reermde it
F T80 U BlecH S HEAT F' =R = 3| R, Al § ¥ =i @1 o9 73 &7

Options:

# LRU = FIFO = OPTIMAL
% FIFO < OPTIMAL < LRU
» FIFO = OPTIMAL

« OPTIMAL < FIFO < LRU

Question Number : 132 Question Id : 16794311654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Consider a system with ten units of resource R and three processes: X, Y. and Z. The maximum resource requirement
and current allocation to these processes are as follows:

X |Y [&&
Maximum Resource 3 2 3
Requirement
Current Allocation 4 1 3

Now, consider the following resource requests:

(i) X makes a request for 2 resource units

(ii) Y makes a request for 2 resource units

(i) Z makes a request for 2 resource units

For the system to be in safe state, which of the following must be granted?

Options:
% Only request (1) must be granted
% Only requests (i) and (ii) must be granted

»» Only request (iii) must be granted

% Only requests (i) and (ii) must be granted

Question Number : 132 Question 1d : 16794311654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

« daer RFAEe (i) ver= har Ser =T

» e T (i) AR (i) yer= BFar = oo

» e NeaEe (i) g f&ar Smer =T

. e T (i) 3R (i) 9e= SFar s onfge

Question Number : 133 Question Id : 16794311655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the base-4 representation of the decimal number 2137

Options:
% (1111)4

x (3113)4
x (3133)4

2 (3111)y

Question Number : 133 Question Id : 16794311655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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ZAHTS & 213 F1 84 Fr W=y (vt =R s e asls a &2
Options:

« (1111)4

x (3113)4

x (3133)4

(3111

Question Number : 134 Question Id : 16794311656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What is the 15°s complement of the hexadecimal number (C00D0);4?

Options:
% (2FF3F)i6
» (3FF2F)1¢

% (3EE2E)i5

% (2EE3E)15

Question Number : 134 Question Id : 16794311656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
geraTS e HEAT (C00D0)1g & 15 & Tk 4T B2

Options:

% (2FF3F)6
» (SFF2F)15
% (BEE2E)q5

% (2EE3E)15

Question Number : 135 Question Id : 16794311657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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What is the 10°s complement of the decimal number 201007

Options:
% 79899

# 89999
« 79900

# 79800

Question Number : 135 Question 1d : 16794311657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ZrHET TEAT 20100 & 10 & I F4T g

Options:

% 79899
» 89999
« 79900

% 79800

Question Number : 136 Question Id : 16794311658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If(10011), = (631);q then what is the value of x?
Options:

% 2

Question Number : 136 Question Id : 16794311658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Tfe (10011)y = (631)10 AT X & AT FIT G172

Options:
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% 4

&5

% 8

Question Number : 137 Question Id : 16794311659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If(1101), = (241);6. then what is the value of x?

Options:
% 2

® 4

8

Question Number : 137 Question Id : 16794311659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ife (1101), = (241)1, @ x T AT T G172

Options:

% 2

% 4

8

# 10

Question Number : 138 Question 1d : 16794311660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If(12207)g =(1010110000111),. then what is the missing digit in (12207)g?
Options:

® 35
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Question Number : 138 Question Id : 16794311660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofg (12207)g = (1010110000111), & (12207)g H TH 3 FAT g2
Options:

# b
v B
% 7/

% 4

Question Number : 139 Question Id : 16794311661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Considering 2's complement representation for negative numbers. what is the decimal equivalent of an 8-bit register
content 100000007

Options:
# —0

# T128

 — 128

Question Number : 139 Question Id : 16794311661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Wﬁwﬁ#ﬁvz#mﬁhﬁtﬁﬁﬁam(wqﬁﬁﬁ?ﬂﬁmﬂﬁwﬁg 8-fae o
Fleee 10000000 T ZAHE FAJeT FT 872

Options:

# — 0

% +0
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% +128

v — 128

Question Number : 140 Question Id : 16794311662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify the missing digits in the following expression so that the left hand side is equal to the right hand side.

(1010?7) + (?7)g = (24)16

Options:
o

Gk

%16

|

Question Number : 140 Question Id : 16794311662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frafof@a =aste & T3 et $T 9g9 F{ arfe a0 9eT g 98T & S @
(1010?)2 + (?7)g = (24)16

Options:
%1, 2
1.9
%1, 6
% 0, 1
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Subject Related

Section Id : 167943423

Section Number : 1
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Number of Questions: 20
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Question Number : 141 Question Id : 16794311663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following options is equivalent to the Boolean expression A'C-A'BC’+A'B'C*?

Options:
® A

o A
% AC

# BC’

Question Number : 141 Question 1d : 16794311663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fr=fofea & & #ia @ TFeT gfoms oo+ AC+ABC+AB'C’ & s g7
Options:

% A

v A

% AC

% BC'
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Question Number : 142 Question 1d : 16794311664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The XOR gate gives as output when both inputs are different and when both inputs are same.

Options:
% 0.0

% 0,1

Question Number : 142 Question 1d : 16794311664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

XOR 1T 3M3e9E & & & & §, 59 gl ST HEAW g g AN a e S e
THA g g

Options:

« 0,0
.1
s1. 0

x 1, 1

Question Number : 143 Question Id : 16794311665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The following logic diagram is equivalent to gate.

B

Options:
# XOR

# NAND

# NOR
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« XNOR

Question Number : 143 Question 1d : 16794311665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

F=faf@a affes STaH (95 3RT) T F AT Z

B

Options:

% XOR
% NAND
% NOR

+ XNOR

Question Number : 144 Question Id : 16794311666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the 2°s complement of the binary number (101100),?

Options:
% (010011)

« (101111),
» (010100);

« (111100),

Question Number : 144 Question Id : 16794311666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fTafaf@a & @ #ia @ a@ad 797 (101100), FT 2 & [T g2

Options:

% (010011),
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. (101111),
~ (010100),

% (111100),

Question Number : 145 Question Id : 16794311667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A ripple counter is a(n) counter where only the flip-flop is clocked by an external clock.

Options:
% Synchronous, First

% Asynchronous, Second
» Asynchronous, First

% Synchronous, Second

Question Number : 145 Question Id : 16794311667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
roae F8eT T F3T §, @l Fad oo 7 88 TS ganr e S B

Options:

, TFeH, FFC (Feawriee, qee)

., iweg, S (3T, g

 TTEsAE, BT HAMAd, T8

= =g, TS JeThIToIh, A

Question Number : 146 Question Id : 16794311668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If n flip-flops are used in a ripple counter, then it will count from to

Options:
% 0,2
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w0, 28— 1
1,28
% 1,20— 1

Question Number : 146 Question Id : 16794311668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I n TFea-wemT &7 393 o9e FEe 7 SFar S g, ar 59 " SECCIRCIE
Options:

x O 21

a0 2% —

%1: 2”

a1l 20— 1

Question Number : 147 Question Id : 16794311669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is the simplified form of the Boolean expression (AB)(A’+B)(B'-B)?

Options:
® A

o A
# B

# B’

Question Number : 147 Question Id : 16794311669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fr=fofea & & #ia @1 GFeT gforma =o=+ (AB)(A'+B)(B'+B) & Tlciled 7 g7

Options:

% A

v A
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% B

x B’

Question Number : 148 Question Id : 16794311670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following represents the Idempotent law in Boolean Algebra?

Options:

# AT0=A

vATA=A
% A+A =1

. () =A

Question Number : 148 Question Id : 16794311670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e & ¥ #ia T e Itma St & T9ws Fuw 1 grar 27

Options:

« A+0=A
vA+A=A
« A+ A =1
x (A) = A

Question Number : 149 Question Id : 16794311671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a NOT a correct identity in Boolean Algebra?

Options:
# ATAB=A
» A(A+B)=B

# ABTAB'=A
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x (ATB)(AB)=A

Question Number : 149 Question 1d : 16794311671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T & & w9 o TFer gfome fefta 7 78 gaeT 7@ 82

Options:
« A+ AB = A
» A(A+B) = B

x AB + AB' = A

» (A+B)(A+B’) = A

Question Number : 150 Question Id : 16794311672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For A=1,B = 0 and C = 1., what will be the value of Q in the following logic diagram?

&
B—p—1 Q

m

Options:
« 0

% 1

% Cannot be determined

# BothOand 1

Question Number : 150 Question Id : 16794311672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

A =1, B= 0 X C = 1 ¥ forw, afofEa aifee sy (9% 3@) # Q &7 AT &7 g7

37“.

Options:
« 0

% 1

s I T EEa &
% 0 3T 1 =t

Question Number : 151 Question Id : 16794311673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
State whether the following statements are true or false.

Statements:

(1) The JK {flip-flop is a basic building block of combinational logic circuits.

(i1) In a ripple counter. if the uncomplemented output counts up. then the complemented output counts down
Options:

% (1) True, (11) True
% (1) True, (ii) False
» (1) False, (ii) True

% (1) False, (ii) False

Question Number : 151 Question 1d : 16794311673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Ig Tq¢ & Aeafafle sy 5w & o1 39T B

CRInE

(i) JK TFog-Felia Faa T IROY (FEaave At Tieed) F HoT a0 (@fw [fesm)
TF gl

(i) frooer @rEex 7,37 37@Fag I3CE G FedT g, A T #Fag HI3eYE §EA O S g
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Options:

« (i) |, (ii) T
« () |4, (i) T
o (1) 3FFT, (i) JT

« (i) 37T (i) 3/ =T

Question Number : 152 Question Id : 16794311674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the output of the following logic diagram? In the given options, & represents XOR operation.
whereas @ represents XNOR operation.

A

—_

.

o
>
Options:

« ATDB
% AEB
# AB

# A'B’

Question Number : 152 Question Id ;: 16794311674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
frafafia aifes sTame (9% 3m) &7 35ege 41 g7 BT 71v fawedt #, © XOR AT & gfar
T, 9t © XNOR 3iT9yerT & g2 2l

Options:

A @B
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#« A® B
% AB

% A'B'

Question Number : 153 Question Id : 16794311675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following data structures is used in implementing recursive calls?

Options:
g Queue

» Binary Tree
« Stack

% Hash Table

Question Number : 153 Question Id : 16794311675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tfef@a & ¥ 9 @ 3o o= (T F1 39 Refae Fie & on) e & & B @ g?
Options:

I

x SIS &1
qﬁ

o BT T

Question Number : 154 Question Id : 16794311676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the difference between the ASCII codes of *A’ and *Z°7

Options:
# 20

25
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% 24

Question Number : 154 Question Id ;: 16794311676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘A HIT Z F ASCI F & &I FI7T FRW 27

Options:

% 26
« 25
% 27

% 24

Question Number : 155 Question Id : 16794311677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following properties ensures that an algorithm must always terminate after a finite number of steps?

Options:
% Effectiveness

% Definiteness
+ Finiteness

» Output

Question Number : 155 Question Id : 16794311677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fFeafafea # & #ia & g9dt a7 gaftea &= § & o veefien g ot & @ffa d=r & s¢
AT BT TTfgu?

Options:
% FHTILTAT
% TAT9Eaar

gﬁ'ﬂ?ﬁ
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Question Number : 156 Question Id : 16794311678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How will (0.10101)> be represented using normalised scientific notation?

Options:
% 0.010101 x 2!

% 0.10101 x 20
«1.0101 x 271

% 10.101 x 22

Question Number : 156 Question Id : 16794311678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
THENFT TEfefhe (Fafae) A # 39aET F+ (0.10101), #F F& Feha fBr sreen?

Options:

% 0.010101 = 21
% 0.10101 x 20
« 1.0101 x 271

% 10.101 x 22

Question Number : 157 Question Id : 16794311679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Visual Basic was first released by Microsoft in the year

Options:
« 1991
# 1992

# 1994
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# 1995

Question Number : 157 Question Id : 16794311679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fasparer affiss ggell I ASHIEF @R ay F Reirsr foram amam o)

Options:

« 1991

% 1992
% 1994

% 1995

Question Number : 158 Question Id : 16794311680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following was the final version of Visual Basic before the release of Visual Basic. NET?

Options:
% Visual Basic 4.0
% Visual Basic 5.0

+ Visual Basic 6.0

% Visual Basic 7.0

Question Number : 158 Question 1d : 16794311680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Visual BasicNET & Relisr gl @ wgel faeafofad # & #lar @ faggerer sf@w a1 sifas awmor ar
Options:

., =3 9fde 4.0
., =3 9fde 5.0

Jﬁs_gm afa+ 6.0
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. =3 9f@e 7.0

Question Number : 159 Question Id : 16794311681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following Visual Basic controls is used to accept input from the user as well as to display the output?

Options:
% Label

% Combo Box
" Text Box

% Option Button

Question Number : 159 Question Id : 16794311681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
frrafafla 7 & #ia & ey s a9 #1398 TR GEuanTsd) ¥ $649¢ FHeR # & @
WY HT3EYE FEa & & e fomar smar g2

Options:

% ool

% ﬁth—ﬂT ETEE-H

v CFEC 9T F

% Mol ST

Question Number : 160 Question Id : 16794311682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statements are correct?
(i) The *Label’ control of Visual Basic can also be used to display outputs.
(i)  The image in an ‘Image Box’ control is stretchable.
(ii1) The most common event associated with the ‘Command Button’ control in Visual Basic is the Click event.
Options:
» Statements (i) and (ii) are correct

% Statements (ii1) and (ii1) are correct
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% Statements (i) and (iii) are correct

» Statements (i). (ii) and (iii) are correct

GET IT ON
Google Play

Question Number : 160 Question Id : 16794311682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T=ofaa 7 o =i a1 Fa9 @ &7

() s 3ffe & o e S & 399RT AMEeE WEiT e & fov off fFar 5 w5 g

(i) ‘SHT ST Folel H ST AGAT T g

(iii) Toparer afE & FATT e FAT § FEAT FEH HH Fa€ Fow 39 2

Options:

« ®U (i) 3T (i) 7ér &
» U (i) 3 (i) T
« FIT () AT (iii) TEr §

o & (), (i) AR (i) T §

Group Number :
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Sub-Section Number: 1
Sub-Section 1d: 167943732
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794311683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following symbols is used to represent Integer Division in Visual Basic?

Options:
» Forward slash (/)

» Backward slash (1)
» Percent (%)

% Ampersand (&)

Question Number : 161 Question Id : 16794311683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frrfafla 7 & e fieew & svanT R ofts & 8oy Bdew & o & fow fasar smar 22
Options:

» WHIas T (/)
 das Tl ()
. TTaRra (%)

. T (&)

Question Number : 162 Question Id : 16794311684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the output of the following Visual Basic expression?

Len(**Visual Basic Tutorial™)

Options:
® 3

21
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% 19

Question Number : 162 Question Id ;: 16794311684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ﬁmﬁﬁaﬁgméﬁ%ﬁmmmgzw%?
o (e afw cgeiRTe)

Options:

% 3

21

Question Number : 163 Question Id : 16794311685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What will be the output of the following Visual Basic string handling function?

Instr(1. *“Visual Basic™, “Basic”)
Options:
% 1

% 4
« 8

® 12

Question Number : 163 Question 1d : 16794311685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Frafafea R affs e gsfonr weem & amseqe #ar grm?
Instr (1, "fsgarer 3", "3

Options:

% 1
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% 4
8

% 12

Question Number : 164 Question Id : 16794311686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is NOT a valid looping construct in Visual Basic?

Options:
» Repeat.. . Until

% Do...loop

# For.. Next

% While.. Wend

Question Number : 164 Question Id : 16794311686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fasparer sfts & A=l 7 & #i9 @ A= Ffver Freae 76 82
Options:

~ Repeat..Until

« Do..loop

% For.Next

% While.Wend

Question Number : 165 Question Id : 16794311687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What is the size of ‘Currency’ data type in VB6?
Options:

« 2 Dytes

w 4 Bytes
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« O Bytes

» O Bytes

Question Number : 165 Question I1d : 16794311687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
VBB ¥ ‘SEr 3T ST H TS (ITHR) F4T 272
Options:

% 2 S8
% 4 95T
x 6 918

8 T

Question Number : 166 Question Id : 16794311688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a non-numeric data type in VB67?

Options:
5 Currency

« Date
% Double

g Long

Question Number : 166 Question Id ;: 16794311688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
VB # =@ # ¥ 3iF o1 A9--uaAles (-geurems) 297 aET 27
Options:

HIHT (F)

]

» =T (af)
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# Sdof

# elled]

Question Number : 167 Question Id : 16794311689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following suffixes is used for ‘Double’ data type in VB67?

Options:
e

« @

% &

Question Number : 167 Question Id : 16794311689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fafef@a & ¥ 9 9ca &7 3991 VB6 H ‘S¥o 22T 219 & v fhar smar g2

Options:
v #

« @

% |

% &

Question Number : 168 Question Id : 16794311690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following are basic controls in VB6 that you can use to draw graphics on your form?
(1) Line control
(ii)  Shape control
(iii)) Image box
(iv)  Picture box
Options:

. Only (i) and (i)
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% Only (i), (iil), and (iv)
% Only (iii) and (iv)

» (1), (ii). (iii), and (iv)

Question Number : 168 Question 1d : 16794311690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT 7 ¥ #iF @1 VB6 # 3fds s § e 399 9 39 %fF W Ik @ & e
FT Thd &7
(i) omsar serer (Y@ =)
(i) 2T T (HTFT TFTO)
(i) =HS T (Y )
(iv) Rz siw (R a1 w)
Options:

. et (i) T (i)
. haer (i), (i), 3T (iv)
» e (iii) 3T (iv)

» @, (), (i), 3R (v)

Question Number : 169 Question Id : 16794311691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following Visual Basic methods can be used to draw graphics on the forms?
(1) Pset method
(i)  Line method
(1i1)  Circle method

Options:

% Only (ii) and (iii)

. Only (i) and (iii)

. Only (i) and (ii)
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(D). (i) and (i)

Question Number : 169 Question 1d : 16794311691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A T Tirew S & v F=ofd § ¥ siq @ Aegye 3t fus &1 393w & 51 7 87
(i) 9T Aus
(i) =mET Ay
(i) \fFa Aus

Options:

. e (i) 3T (i)
.. Shaer (i) 3T (iii)
w el (i) 3R (i)
o (), (i) 3R (iii)

Question Number : 170 Question Id : 16794311692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Visual Basic allows us to manage databases created with which of the following database programs?

(1) MS Access
(ii)  Oracle
(i) MySQL

Options:

% Only (i)

% Only (i)

. Only (if) and (iii)

(i), (i) and (iii)

Question Number : 170 Question Id : 16794311692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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R 3t 7 T Soiw deral & @y 39T v e et @ wEfa = f sgahy & e

(i) MS Access (THTH ToEd)
(i) Oracle (3=ea)

(i) MySQL (A8 TH.&.T4.)
Options:

« ae (i)

w ad (i)

. ae (i) 3T (i)
» (@), (i) 3R (iii)

Question Number : 171 Question Id : 16794311693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Linked Listis a data structure.

Options:
« Linear

% Non-linear
% Virtual

« Imaginary

Question Number : 171 Question Id : 16794311693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
s e = 2T FEFT ¢
Options:

» A (3ET)

x Ao (T )

L9 = A
MR L) (STEdTeR)
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. SHSAY (FTeafa)

Question Number : 172 Question 1d : 16794311694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a tree, a node of degree is called a terminal node or leaf node.

Options:
« 0

% 1

Question Number : 172 Question Id : 16794311694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
uw & 7, fEEh 1 TF A3 T A1 T AF AT FFT S0 g

Options:
v\

% 1
® 2

%3

Question Number : 173 Question 1d : 16794311695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of subtrees of a node is called the of the node.

Options:
% size
% rank

» degree

% order
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Question Number : 173 Question 1d : 16794311695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AS F WAL T GEAT H AT H gl AT 2

Options:

x TS (ATHR)
« {& (3o
v 2

x HTET (F5)

Question Number : 174 Question Id : 16794311696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The degree of a tree is the degree of a node in the tree.

Options:
« maximum

% minimumnm
% second minimum

% second maximum

Question Number : 174 Question Id : 16794311696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SR BFHITATE A H et &1

Options:

Jﬂﬁm

e dH

® o,

» QAdl cdadaH

. oaq R aH

Question Number : 175 Question Id : 16794311697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
Which of the following statements is NOT true?

Options:
% The size of an array is generally fixed, whereas the size of a linked list is dynamic.

« Inserting a new element in an array is expensive compared to inserting a new element in a linked list.
» Both, random access and direct access are allowed in a linked list.

% Deleting an element from array is expensive compared to deleting an element from a linked list.

Question Number : 175 Question Id : 16794311697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT ad Fual § T FidT T G 7Ael 72

Options:

. T I F weR 3H ak W Rvaa B S g 3= ve e @ o wE e aer afaehe &
, ¥ A Ue Fa1 T s i e 3 O g9 & SO TS STel JEA g g

fom v (efos TgY) T sEiEe T (FeUe Tg9) 2, & e A 9 T A @ I &
o FA B &

, 3 ¥ TAAT & gT T gerer A o T § TS $T gET JgAT ger €

Question Number : 176 Question Id : 16794311698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If traversal of a binary tree is sorted (in increasing order), then the binary tree is a Binary Search Tree (BST).
Options:
% Preorder

% Postorder
« Inorder

% Level-order

Question Number : 176 Question Id : 16794311698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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I asal & F 0 T wHEE RO AT § (Fed FH H), o =40 & UF aisAd g9 &
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Options:

% W-3TET
wq‘ﬂ?.iﬁéi'
 SANTET

#® W-H‘%T

Question Number : 177 Question Id : 16794311699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following data structures can be used to efficiently implement a priority queue?

Options:
g Array

% Single Linked List

% Circular Linked List

» Heap Tree

Question Number : 177 Question Id : 16794311699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
WSAET & (TATHFAT HaAR) F FASFATEH FAlTead it & o0 earonad 7 ¥ a 327 rgaay
T 39TT fFaT ST gehar 27

Options:

x 3

i =t [ —
% ‘HgﬂﬁH REEERIEES
s BT &

Question Number : 178 Question Id : 16794311700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

Identify the non-linear data structures from among the following.
(i) Linked List

(ii)  Stack
(iii) Tree
Options:

. Both (i) and (ii)
 Only (i)
. Both (i) and (iii)

. (). (ii) and (iii)

Question Number : 178 Question 1d : 16794311700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T 7 ¥ a=-asa FR-1E) 3o Eauad 92T S
(i) fores e
(i) T+
(i) 2r

Options:

w A (i) 3R (i)
 Fae (iii)

. 2 (i) 3 (i)
w (), (i) 3R (iii)

Question Number : 179 Question Id : 16794311701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What is the Hamming distance between 1101 and 110?

Options:
# 2

3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

Question Number : 179 Question Id ;: 16794311701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1101 3R 110 ¥ &= T gfr = 27

Options:

% 2
v 3
% 4

% 0

Question Number : 180 Question Id : 16794311702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert the following arithmetic expression into Postfix form:

A-B-D*E/F+B*C
Options:
# AB-DE /F*BC*+

% AB-DE*/F-BC*+
% AB-DE*F /-BC+*

« AB-DE*F / —BC*+

Question Number : 180 Question Id : 16794311702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
e FatdT oo FI Aeefhay BiH & FaRg 1
A-B-D+E/F+B=C

Options:

% AB-DE/F+-BC++

%« AB-DE+/F-BC++
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% AB-DE+F/-BC++

+ AB-DE+F/-BC++
subject Related
Group Number : 10
Group Id: 167943366
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
subject Eelated
Section Id : 167943425
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943733
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 16794311703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the worst-case time complexity of the Heap sort?

Options:
% O(n)

x Om?)
» O(n log n)

-

% O (@)
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Question Number : 181 Question 1d : 16794311703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

219 Fic #T 9EE-F FAT Afedar a7 g7

Options:

« O(n)

« O(n?)

»~ O(n log n)

« O (nd)

Question Number : 182 Question I1d : 16794311704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

‘What is the worst-case time complexity of the Bubble sort?

Options:
% O(m)

» O

% O(n log n)

x O (@)

Question Number : 182 Question 1d : 16794311704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

oo T T TEE-FH AT Afedar Far 72

Options:

« O(n)
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Question Number : 183 Question 1d : 16794311705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A queueisa data structure in which elements can be inserted only at one end called and deleted only at

the other end called

Options:

« Linear. Front, Rear

% Non-linear, Rear, Front

% Non-linear, Front, Rear

» Linear, Rear, Front

Question Number : 183 Question Id : 16794311705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Y TH 32T & S| acar # Fad AH% TF B W =8¢ (FiFEAfoe) fFar s g=ar &
HR el gEY OR W Bele & (gen) Rwm =ar & =9 FET AT #
Options:

o AlT-oNSa, e, NI

» TR, R, we

Question Number : 184 Question 1d : 16794311706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Considering the height of a binary tree as the number of edges between the tree's root and its furthest leaf, what is the
height of the binary search tree created using the following key values (in order)?

19, 14, 18, 15, 16. 13, 12
Options:
® 3

v 4

®
LA
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Question Number : 184 Question I1d : 16794311706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
& 7T AT 3EF U O F T e F TE0 F w9 H UF 9540 & Fr FEE oo H W
gu farafafEa # doga (FH #) & 3R FF T R IEA T & H S F;w g2

18, 14, 18, 15, 16, 13, 12
Options:

® 3
v 4
%5

% 6

Question Number : 185 Question Id : 16794311707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the pre-order traversal of the binary search tree corresponding to the following key values (in order)?

9,8, 12,224, 10,13

Options:
% 6,9.4,12, 10, 22,13

x 9,84 12 2288 ol
»9.8:4.12.10,22. 13

& 13,20 10,424, B9

Question Number : 185 Question Id : 16794311707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

s 1 Foms (FF A) F IEET TEAT TG FT G- LI 74T 27
9. 8 12, 22, 4,10, 13

Options:

x 8, 9 4 12, 10, 22, 13

x9 8, 4, 12, 22, 10, 13
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<92 8 4,12, 10, 22, 13

% 13, 22, 10, 12, 4, 8, 9

Question Number : 186 Question Id : 16794311708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following options present the correct postorder and preorder traversals of the following binary tree?

A

| B} G )
& B 0w
S - R

./“'!/ ,‘-"‘"«_ z"'\'(

{-c) | E ) [ H )

S S

Options:

Postorder: A, C.E.D.B.H.ILG. F
% Preorder:F.B.A.D,C.E.I.G.H

Postorder: A, C.E.D.B.H.I.G. F
o Preordec: B B.A. D C E. G, 1L H

Postorder: A, C.E.D.B.H. L. G. F
% Preorder:F,B.A.D,.E.C.G.I.LH

Postorder: A.C.D.E.B.H. 1.G.F
¢ Preorder: F. B.AD.C.E G ILH

Question Number : 186 Question Id : 16794311708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AeaofEa 7 & FiF @ Ry T s=ad & & w8 dwesEr 3k st dage = g 872

I/';'\I
P
.r-'“"'_)'/ \‘f"' W
|_}9 } _.RG{'
oo 0
kAl (D)
-"_“! 3'_‘1 _/'_'(I
l.c {E) | H
- R o
Options:

geEd=C A, C, E, D,B,H, I, G, F
s SI3ECF, B, A D, C,E | G,H
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qIEHE: A, C, E, D, B, H, I, G, F
s WA F, B, A, D, CE G, I H

g 3= A, C,E.D,B,H, I.G, F
L WIEC F,B,A D E C G, I H

Sz W= A, C, D, E, B, H, I G, F
s 9IS F,B, A D, C,E G, I H

Question Number : 187 Question Id : 16794311709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
State whether the following statements are true or false.

Statements:
(1) A queue can be implemented using two stacks.
(11) A stack can be implemented using two queues.

Options:
» (1) True, (ii) True
% (1) True, (ii) False

% (1) False, (ii) True

% (1) False, (ii) False

Question Number : 187 Question Id : 16794311709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ig I90 & Trafeiead § ¥ 39 I 99 97 I I8 ¢l

Fod:

(i) TH FT F 3 TFF HT 3TART i Fllead T AT Tehell gl
(i) & FIST FT 3T FF T Tk I FAead HaT ST Fehall gl

Options:
» () ==, (i) g7
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« () |4, (i) T
% (1) 38T, (i) H

« (i) 37T (i) 3/ =T

Question Number : 188 Question Id : 16794311710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The programming language C— was developed by:
Options:

% Blaise Pascal

% Dennis Ritchie

% Alan Turing

» Bjarne Stroustrup

Question Number : 188 Question Id : 16794311710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT ovasr (3w C ++ Fue B G ar
Options:

% TOIF UTEhe]

% ST T

. T TG

» T TETEET

Question Number : 189 Question Id : 16794311711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following characters is a terminal that terminates a statement in C+—7?
Options:

»~ Semicolon (3)
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% Colon (3)
w Ampersand (&)

% Dollar (%)

Question Number : 189 Question Id : 16794311711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
aTofaa § O &9 I 907 fiaa g, 3 C++ H FUd I TAT & T 27

Options:

» BT (3R ()

w F ()

Question Number : 190 Question Id : 16794311712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is the insertion operator in C+—+, used to write formatted data into the stream?

Options:
B ==

o <<
w &&

® <=

Question Number : 190 Question Id : 16794311712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
F=f@a & ¥ FiF T C ++ H §0¢ e g, o Bwiaes (F00) 307 & B9 & e & v
STAATer e Frar &7

Options:
-
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o <<

% &&

A

Question Number : 191 Question Id : 16794311713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

In C++, trying to access private data from outside of a class throws error. This feature is known as:
Options:
% Data abstraction

» Data encoding
» Data hiding

% Data mining

Question Number : 191 Question Id : 16794311713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
C++ﬁ,m#mﬁﬁ:ﬁ%€ra¥q§%mmﬁrﬁgﬁfm%lﬂ@ﬁmmﬁmmé‘?

Options:

. 22T VerdeR A
% 32T TeopiieaT
o ST Tt
% ST AT

Question Number : 192 Question Id : 16794311714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Considering A as a one-dimensional array, which of the following C-+ statements will print the third element of A?
Options:

g cout << AJ3];

« cout <= 3[A];
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» cout <= 2[A];

% cout == AJ2];

Question Number : 192 Question Id : 16794311714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A &I TA-SITHRIAT X F T H A gU, fmAloi@a # @ Fid 1 C++ Redeq (o) A & o3
TAHE (FAT ) # T FEm?

Options:
» cout <<A [3];

« cout << 3 [A];
» cout << 2 [A];

« cout >> A [2];

Question Number : 193 Question Id : 16794311715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider the following declarations in C++:

int C, *PTR;
Which of the following statements 1s TRUE?

Options:
¥ PFR=C:

% *PTR = &C;
v PTR=&C;

% C=&PTR:

Question Number : 193 Question Id : 16794311715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

C ++ H fa=afof@T soanry W =R &4
int C, *PTR;
=T Fual § ¥ i 97 F399 7 £7
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Options:

« PTR = C;

« *PTR = &C;
,PTR = &C;
« C = &PTR;

Question Number : 194 Question Id ;: 16794311716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What is the correct interpretation of the following declaration in C++?

int (*FPTR)(char*)
Options:
» FPTR is a pointer to character

% FPTR is a pointer to a function, which takes character as an argument and returns integer value
» FPTR is a pointer to a function, which takes character pointer as an argument and returns integer value

% FPTR is a function, which takes character pointer as an argument and returns integer pointer

Question Number : 194 Question Id : 16794311716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

C ++ # r=faf@a soee= & ggr carear &= g2
int (+FPTR)(char=)

Options:

« FPTR 3YaeT (38T & 95T &

. FPTR T SR &7 TF 915X §, S HiFeX (300) # % & &7 & 34ar § 3% qoiter 71 a1 &

, FPTR U G F TF T3 g, AT HFFed (I0N) e FF TF F §T F A § AR ok 717 &ar &

. FPTR T Wl g, S 90T ek &l O & & H o ¢ AR qOler FoIeh & g

Question Number : 195 Question Id : 16794311717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Which of the following is not a correct declaration statement in C++7?
Options:
» Int *ptr=0, p:

% intp, *ptr=0;
» int p; double *fp = &p:

® int JI!Icp? *q: L

Question Number : 195 Question Id : 16794311717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o 7 ¥ 7 & C ++ # Fioc 3T AT (T oo f&agon) =8 &2

Options:
« Int #ptr=0, p;
« Int p, =ptr=0;

» Int p; double *fp=&p;

b int *R, *q, T,

Question Number : 196 Question Id : 16794311718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In case of public inheritance in C++, which of the following correctly represents the accessibility of the data variables
from derived class?

Options:
« Private variables: Yes. Protected variables: Yes. Public variables: Yes

« Private variables: Yes. Protected variables: No, Public variables: Yes
» Private variables: No, Protected variables: Yes. Public variables: Yes

« Private variables: No, Protected variables: No. Public variables: Yes

Question Number : 196 Question Id : 16794311718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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C++ ¥ ufeors §ieReH & A &, feafaf@a & @ Fla @1 gooeat 97 F 31 =W &7 957 &
HE & & gafiar 87

Options:

« = = g, afET = @, gedas =93 g@r

x e =X @, WET W} 79, gead 91 g
» e T A8, AT 9 g, dedles 91 gl

x [ = o, IfET 9 A9, gEetEs 9 a

Question Number : 197 Question Id : 16794311719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In case of protected inheritance in C+, which of the following correctly represents the accessibility of the data
variables from second derived class?

Options:
w Private variables: Yes. Protected variables: Yes. Public variables: Yes

« Private variables: Yes. Protected variables: No, Public variables: Yes
» Private variables: No. Protected variables: Yes. Public variables: Yes

« Private variables: No, Protected variables: No, Public variables: Yes

Question Number : 197 Question Id : 16794311719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
C++ & Wiftid seltew ¥ Fay #, eafofRa & ¥ #l7 1 g@t egeveet 1 & 37 R & w7
TEr 9T ¥ gafar 87

Options:

» =T =T @, IET 9T 8@, 9Edes 91 &

x = = @, afET av A8, e =9 &
» e T AET, AT I 7, deAls 9 gl

i o= =T 78, W8T = 79, Heelae 91 &r
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Question Number : 198 Question 1d : 16794311720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In case of private inheritance in C++, which of the following correctly represents the accessibility of the data variables
from second derived class?

Options:
w Private variables: Yes. Protected variables: No, Public variables: Yes

« Private variables: Yes. Protected variables: No, Public variables: No
« Private variables: Yes. Protected variables: Yes. Public variables: Yes

» Private variables: No. Protected variables: No, Public variables: No

Question Number : 198 Question Id : 16794311720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
C++ﬁﬁ3ﬂ$ﬂ%ﬁ€ﬂ#mﬂﬁ,ﬁmﬁﬁaﬁﬁﬁamw%maﬁﬁ%ﬂmﬁq@aﬁm
& § gafer £

Options:

)

« =T =TT @, vfEg 9v a9, geaas 5 gn

. = =TT @1, aufEg 3T 79, geatae =1 Ja
. = =TT @, afET 3T @, gEdfas 9 8

» = 9T 787, WiEa =T 78T, gesias 91 F7gr

Question Number : 199 Question Id : 16794311721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is used to access the overridden function of the base class from the derived class?

Options:
¥ S

Question Number : 199 Question Id : 16794311721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0.25
ﬁmﬁﬁﬁﬁﬁmwmm#ﬁvmammmﬁq@aﬁtﬁwﬁm
ST 82

Options:

v g

# <<

B >>

Question Number : 200 Question Id : 16794311722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In C—+. if a function f'is defined as a friend function, then which of the following category of data members can be
accessed using the function /7

Options:
% Only Private

% Only Protected
% Only Public

» Public, Private and Protected

Question Number : 200 Question Id : 16794311722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
C++ H, Tf¢ FIT 2 f s BT & §F H INHAST Far 7137 &, ar B f &7 393197 F6
=R 7 @ &5 997 337 a7 7 Hg'maT«Hu:hm%‘?

Options:

% haol Ter=ir

% oheol FUET
% ol HaAaF
Jmmmmﬁ
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Subject Related
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Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related
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Section type: Online
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Number of Questions: 20
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Section Marks: 20
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Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 16794311723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A function is a member function in base class that vou expect to redefine in derived classes.
Options:

% Friend

« Virtual
% Private

% Protected

Question Number : 201 Question Id : 16794311723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A FeFd 9F T H Ush Hel o g oy 39 Buges Fanrw # by o Fuifig s &7 /e
T 2l

Options:

% S
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Question Number : 202 Question Id : 16794311724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Consider the following C++ code segment:

inta=10, b=20;

int *p = &a. *q = &b

P=4q:

With respect to the code segment mentioned above. which of the following statement is correct?

Options:
% Both a and b will contain 10

% Both a and b will contain 20
% Both p and q will point to a

» Both p and q will pointto b

Question Number : 202 Question Id : 16794311724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
AT C++ HiE W9He W AR+
inta =10, b = 20;

int *p = &a, *q = &b;

P=q
3T IS FIET THE F ToU H, Aeafoieg # ¥ ST § FU9 T@er 27
Options:

x a 3T b 2T # 10 gr
. a 3T b =T F 20 ge
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Question Number : 203 Question Id : 16794311725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will be the output of the following C++ program?

#include <iostream=
using namespace std:
int main(){

char array[10]:
for(inti=0;1<5;1++)
*(array +1) =65 T 1;
*(array +1)="0";

cout <= array;
return(0):

}

Options:
% ABCDE\0

« ABCDE
# BCDEF

# CDEFG

Question Number : 203 Question Id : 16794311725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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fafafla C++ Fiwa &1 3M3eye &1 gem?

#afAe <iostream>

hamespace std T 39AET FIAT;
int main(){

char array[10];

for(int i = 0; | < 5; i++)

+(array + i) = 65 + |;

+(array + i) = "\0;

cout << array;

return(0);

}
Options:

% ABCDE \ 0
+ ABCDE
% BCDEF

# CDEFG

Question Number : 204 Question Id : 16794311726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which option gives the correct interpretation of the following declaration in C++7?

int(*p[S]O;
Options:
% P 18 a pointer to function

»~ D is an array of pointers to function
% P is a pointer to such function which return type is array

% P 1s a pointer to an array of functions
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Question Number : 204 Question 1d : 16794311726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FiT T FheT C++ H Frafaf@a g (gwon) $Hr 52 sarear T 22
int(+p[5])():

Options:

. p B T 95T &

» P BRIF & 3L F I &
» P U B & TSl g ST Ned ey ML E

« P FFUAT & YT ST &

Question Number : 205 Question Id : 16794311727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
State whether True or False?
(1) Pointer arithmetic can’t be done on a void pointer.
(ii) A void pointer cannot point to a class member in C—.

Options:
» (1) — True, (ii) — True

% (1) — True, (i1) — False
% (1) — False, (ii) — True

% (1) — False, (ii) — False

Question Number : 205 Question Id : 16794311727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FaC & TEr T7 ToT B2

(i) dTSeT ¥IATEF TsT TS W T AT 1 HeRar 2
ITET TeeT C++ # FaT® Hax Fr Tiee () F& FT TFaT £
Options:

o (i) - &, (i) - Ty
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« () - T, (ii) - T
o () - =T (i) - =@

% (i) - 114, (i) - T

Question Number : 206 Question Id : 16794311728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the correct statements.
(1) Derived classes do not inherit or overload constructors or destructors from their base classes.

(ii)  Destructors can be declared with the keyword virtual.
(iii)  Constructors can be declared with the keyword virtual.

Options:

% (1) and (1i1) only
» (1) and (ii) only
% (11) and (1ii1) only

. (), (ii) and (iii)

Question Number : 206 Question Id : 16794311728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TEr FUF ST T9g=T HL

(i) RBUses Fog 39 89 FH ¥ FAgF I BTHT sAgRe T HSas 71 Fd gl
(ii) Frae T F Rrgeex # oiftg @ o @ §
(iii) PraE T ¥ Brgaer 1 ot far 51 Fear &

Options:

. haer (i) AT (iii)
» Faer (i) 3R (i)
o haer (i) AT (i)

w (i), (i) 3R i)
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Question Number : 207 Question Id : 16794311729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If a relation schema is in 2NF. then it is definitely in:

Options:
« INF

# 4NF
# 3NF

# BCNF

Question Number : 207 Question 1d : 16794311729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

I R AT 2NF g, dimg affsa sa® _ # s g
Options:

~ INF
% 4NF
% 3NF

» BCNF

Question Number : 208 Question Id : 16794311730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is not a valid category of database management system?
Options:

% Hierarchical

» Sequential
% Object-Oriented

% Relational

Question Number : 208 Question 1d : 16794311730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 209 Question Id : 16794311731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is also known as read-write conflict?

Options:
» Dirty read
% Lost update problem

» Unrepeatable read

% Uncommitted dependency

Question Number : 209 Question Id : 16794311731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=T # ¥ &7 a@ J=-1sc F0aee F 7 H ff J=r e 22
Options:

x 3¢5 &=
% TEC HISCT FeaH
v HAREeTS {1

Question Number : 210 Question Id : 16794311732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which of the following is TRUE?
Options:
» A relation (table) may have more than one foreign keys

» Primary key is not a candidate key
« Every candidate Key is a primary key

% Candidate key is maximal set of attributes whose values are unique

Question Number : 210 Question Id : 16794311732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=feT § ¥ 7 g7 87

Options:

o era (2we) & vF ¥ 30w BRa A g dar &
. IEAY Fr FREc frAgr g
» FUF 38 T Tk IISAY T &

x H2ee HEa BNt F FOwan o & s 7 Bferee §

Question Number : 211 Question Id : 16794311733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is FALSE?

Options:
% A relation (table) may have multiple secondary keys
% The value of primary key can’t be null

» Secondary key is also a candidate key

» Super key satisfies the “minimality™ condition

Question Number : 211 Question Id : 16794311733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 212 Question Id : 16794311734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Match the following:

List-1 List-2

I) Relational Algebra P) Non-Procedural Query Language
IT) Relational Calculus Q) Procedural Query Language

I1T) Generalization R) Top-Down Approach

IV) Specialization S) Bottom-Up Approach
Options:

g 1-Q, II-P, ITI-R, IV-5
» Q. II-P, III-S, IV-R
« I-P. II-Q, ITI-S, IV-R

g [P II-Q. ITI-R., IV-5

Question Number : 212 Question Id : 16794311734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 1-Q, I-P, llI-R, IV-S
» 1-Q, lI-P, 1lI-5, IV-R
« I-P, 11-Q, 1lI-S, IV-R

% I-P, 11-Q, llI-R, V-8

Question Number : 213 Question Id : 16794311735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Match the following:

List-1 List-2

I) DELETE P) Data definition language

IT) DROP Q) Data manipulation language
IIT) SAVEPOINT R) Data control language

IV) GRANT S) Transaction control language
Options:

» [-Q. II-P. III-R, IV-S
» I-P. II-Q, ITI-R, IV-S

» -Q. II-P, III-5, IV-R
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y I-P, II-Q, ITI-S, IV-R

Question Number : 213 Question Id : 16794311735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e & e =+

T -1 T -2

|. DELETE P. a1 efpfes Sfoasr (afvemar
$THT)

. DROP Q. 37T AfAgere Avasr ()

1. SAVEPOINT R. 32T &ard seaer (Fa=or
THT)

V. GRANT S. gI=ldT FIT olva (JTeA
fogsoT &)

Options:

« -Q, lI-P, llI-R, IV-S
% I-P, 11-Q, llI-R, IV-S
s 1-Q, 1I-P, 1lI-5, IV-R

% I-P, 11-Q, 1lI-S, IV-R

Question Number : 214 Question Id : 16794311736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If X4,X;,X;,..., Xy are the domains in a relational database model, then the relation (table) is a subset of which of the
following?

Options:

w X1+ Xz_i_ X3+"'+ XN

u X UX, 0 X0 X
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u X 0%, B Xt .0 Xy

Question Number : 214 Question 1d : 16794311736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I X4,X5, X3, ..., Xy THh AT STET Al H S84 2, af o (ead) Aaoag # ¥ &9 &1
TEHE (39-TE) &7

Options:

o Kb S e
o K O s . 0 3

u X X ¥ Xs 0o Xy

Question Number : 215 Question Id : 16794311737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Match the Armstrong’s Axioms:

List-1 List-2

I) Decomposition rule P)Ifa— By,
Thena— Panda—y.

IT) Union rule Q) Ifa— B.and yB — 6.
Thenay — 0O.

III) Pseudotransitivityrule R)Ifa— [ and a — vy,
Then a — Py.

I'V) Augmentation rule S)Ifa— B,
Then ya — yB.

Options:

« [-Q. II-P. III-R, IV-S
» B II-R, IIT-Q, IV-S
« [-B. I1-Q, ITI-R, IV-S

g 1-Q, II-R, III-5, IV-R

Question Number : 215 Question Id : 16794311737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25
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Options:

« -Q, lI-P, llI-R, IV-S
» I-P, 1I-R, 111-Q, V-8
« I-P, 11-Q, llI-R, V-8

% 1-Q, lI-P, 1lI-5, IV-R

Question Number : 216 Question I1d : 16794311738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

afe AB 3k C fordl e ¥ # $f3se 1 R(4,B,C,D), af v Feavame = 22

Options:
»~ ®aeT A, B,and C

% ohdol AandB

% Shdel A and C



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% ool BandC

Question Number : 216 Question Id : 16794311738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If AB and C are the candidate keys in a relation schema R(A,B,C, D). then what are the prime attributes?

Options:

» A, B, and C only
% A and B only
« A and C only

« B and C only

Question Number : 217 Question Id : 16794311739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following set of functional dependencies defined over the relation schema R(A, B, C, D, E. F, G, H).

F={AB—C,C—A,B—CFH.E— A, F—>EG}
How many candidate keys does the relation R have?

Options:
® 3

v 4

®
LA

Question Number : 217 Question Id : 16794311739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e =FAT R(A, B, C, D, E, F, G, H) W 9aia FacAs Feant (v B &
feTaf@a 3 W 39w F1

F={AB—-C,C—-A B—-CFH, E - A F — EG}

feree R & a7 Faar #fEEe & 2
Options:

% 3
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v 4
% 5

% 6

Question Number : 218 Question Id : 16794311740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following keyword is used in Oracle SQL to sort the result-set in ascending or descending order?

Options:
# MANGE

# SORT
# ARRANGE

« ORDER BY

Question Number : 218 Question Id : 16794311740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
sec-BT & ¥NE I JHE FA H FAGE Fa & [o¢ Oracle SQL # F=o@a & ¥ &g s
sugter e Srar 27

Options:

» MANGE

% SORT
# ARRANGE

+ ORDER BY

Question Number : 219 Question Id : 16794311741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Identify the SQL wildcard character in Oracle which represents zero, one, or multiple characters?

Options:
» Percent (%)

% Underscore ()
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% Question mark (?)

5 Asterisk (*)

Question Number : 219 Question Id : 16794311741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Oracle # SQL IEe=wE JUT FT Tgad X FAT ed, T, TN THIOe HiFed (JON) F Z2ATar 87
Options:

» FfaerT (%)
« HSTEHR ()

.. FIET A (WA = E) (?)

. TENTF (@H) (+)

Question Number : 220 Question Id : 16794311742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following Oracle SQL statements can be used to select the name of customers who have no address?
Options:
SELECT Name
FROM Customers
+ WHERE Address IS NULL;

SELECT Name
FROM Customers
% WHERE Address = NULL;

SELECT Name
FROM Customers
% WHERE No Address;

SELECT Name
FROM Customers
% WHERE Address IS EMPTY

Question Number : 220 Question Id : 16794311742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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=T8T # ¥ 58 Oracle SQL TTHE &7 ITATT 37 TG & ATH & TI7 i & ¢ har =
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Options:

SELECT Name

FROM Customers

» WHERE Address IS NULL;

SELECT Name
FROM Customers
« WHERE Address = NULL;

SELECT Name
FROM Customers
« WHERE No Address;

SELECT Name
FROM Customers
« WHERE Address IS EMPTY;

subject Related

Group Number : 12

Group Id : 167943368
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subject Eelated

Section Id : 167943427
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes

Group All Questions: No
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Sub-Section Number: 1
Sub-Section 1d: 167943735
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 16794311743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following Oracle SQL query:

SELECT * FROM Products
WHERE Price BETWEEN 10 AND 20;

Which of the following is the correct interpretation of this query?
Options:
% Select all products whose price is greater than 10 but less than 20

% Select all products whose price is greater than or equal to 10 but less than 20
% Select all products whose price 1s greater than 10 but less than or equal to 20

» Select all products whose price is greater than or equal to 10 but less than or equal to 20

Question Number : 221 Question Id : 16794311743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e @a Oracle SQL F=8 W fT=R T
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Options:
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Question Number : 222 Question 1d : 16794311744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following Oracle SQL statements is not correct?

Options:
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SELECT * FROM Customers
% ORDER BY Country;

SELECT * FROM Customers
% ORDER BY Country DESC;

SELECT * FROM Customers
 ORDER BY Country ASC, DESC CustomerName;

SELECT * FROM Customers
% ORDER BY Country ASC, CustomerName DESC;

Question Number : 222 Question Id : 16794311744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frafof@a § ¥ Fi9 |1 Oracle SQL FUF HEr Far 87
Options:

SELECT + FROM Customers
+ ORDER BY Country;

SELECT + FROM Customers
« ORDER BY Country DESC,;

SELECT + FROM Customers
» ORDER BY Country ASC, DESC CustomerName;

SELECT =+ FROM Customer
« ORDER BY Country ASC, CustomerName DESC;

Question Number : 223 Question 1d : 16794311745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Which of the following represents the “inner” join operation?

Options:
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Question Number : 223 Question Id : 16794311745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Aol § & i “$a0 Fsd AT HT 2T 872

Options:
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Question Number : 224 Question Id : 16794311746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following category of join returns all records when there is a match in either left or right table?

Options:
% Inner join

» Left outer join
« Right outer join

» Full outer join

Question Number : 224 Question Id : 16794311746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
§17 I7 210 3690 H F15 T g9 W Ra@a # @ 9 @ Sofr F mfr Rere dew a9 22

Options:
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Question Number : 225 Question Id : 16794311747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The SQL ALTER TABLE statement is used to:

Options:
» Add, delete. or modify columns in an existing table.

% Drop an existing table in a database.
» Insert or modify records in a table.

% Delete existing records in a table.

Question Number : 225 Question Id : 16794311747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

SQL ALTER TABLE TeeHe & 394IT 57 Y [T 1T 2
Options:

,, & Aiser &ve 7 Few A3, g@w ar wAftd Y
. STEE ¥ FisEr &5 39 W
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. &8 H FHiser RFis gar

Question Number : 226 Question Id : 16794311748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is used for single-line comment in SQL?
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Options:
# &&

Question Number : 226 Question Id : 16794311748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fF=fof@a 7 9 fFmer 39T sQL 7 faoe-asa FHe F Bw & s &2

Options:

% &&

Question Number : 227 Question 1d : 16794311749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following command is used with SQL SELECT statement in Oracle to return only distinct (different) values?

Options:
» UNIQUE

# DIFFERENT

# DISTINCT

# SINGLE

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 227 Question Id : 16794311749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ao @a # ¥ +ia O FAS 1 3999 Oracle # SQL SELECT TeHT & Y Fao f&aferse (=)
AT a9F = & fore fFar am= gl

Options:
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+ UNIQUE
# DIFFERENT
% DISTINCT

% SINGLE

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 228 Question Id : 16794311750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
With respect to data warehouse, OLAP stands for:

Options:
» Overlapping Analytical Processing
» Online Analytical Processing

% Online Augmented Processing

5 Offline Analytical Processing

Question Number : 228 Question Id : 16794311750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3T RREBH & T H, OLAP 1 7 . 872
iptaﬂaﬁﬁwm T TATTorearel TIATaeT
o HAoT=a TATofeFar SrafeT
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i

Question Number : 229 Question Id : 16794311751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
With respect to data warehouse, which of the following is not a valid type of OLAP technology?

Options:
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« POLAP
# MOLAP
# ROLAP

# HOLAP

Question Number : 229 Question Id : 16794311751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
22T SIEBE & a9 #, Hao@a # ¥ #iF & OLAP =% &7 AT YR #al &7

Options:

+ POLAP
» MOLAP
» ROLAP

» HOLAP

Question Number : 230 Question Id : 16794311752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Match the following with respect to ER diagram:

List-1 List-2

I) Boxes P) Attributes

IT) Ovals Q) Relationships
III) Diamonds R) Entities
Options:

% 1-Q, II-P, III-R
« I-P.II-R, TI-Q
» IR, II-Q, ITI-P

» 'R, II-P, TII-Q

Question Number : 230 Question Id : 16794311752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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ER 3T & ey ¥ F=tarag & & &

T -1 T -2
) STeFeE P) tzegew (FF9wam)
) = Q) =Ry (F=w)
1) sHsg (ER) R) tied= (=)
Options:
< -Q, 1I-P, 1II-R
« I-P, 1I-R, 11I-Q
« I-R, 1I-Q, 1lI-P
» R, II-P, 1I-Q

Question Number : 231 Question Id : 16794311753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many attributes in the following ER diagram are both multi-valued as well as composite?

SEie e

EM F'LDYEE
Address

Department

Options:
1

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 231 Question Id ;: 16794311753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

=BT $3m 3m@ (ER diagram) # fa= tiege g i TH", o= 2

!.--"
\Esn SEEL”

EMPLOYEE

H o)
ore)

Mame Works_on

Department

Supervisor

Options:
o 1

% 2
% 3

% 4

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 232 Question Id : 16794311754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
State whether True or False?
(1) In a database, low cardinality means more unique values are stored in a column and vice-versa.

(ii)  If a standalone column of a table is connected to the primary key of the same table, then it is called a
recursive relationship.

Options:
% (1) — True, (i1) — True
% (1) — True, (ii) — False

» (1) —False, (ii) — True

« (1) — False, (ii) — False

Question Number : 232 Question Id : 16794311754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

« () - T, (i) - T
« () - @@, (ii) - T
o () 1o, (ii) - @@

% (i) - 114, (i) - T

Question Number : 233 Question Id : 16794311755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fa=fofag 7 ¥ g 2o g venfig & 39T 2o vafaves o Aefae & v G smar 22

Options:

=S g
. @=a o= (Naive Bayes)
v Hiaarr

» k-TT (k-means)

Question Number : 233 Question Id : 16794311755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following data mining algorithms is used for association rule mining?

Options:
% Decision tree

« INaive Bayes

» Apriori
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% k-means

GET IT ON
Google Play

Question Number : 234 Question Id : 16794311756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

HTML links are defined with the

Options:
% =p=

% <hl=

% <link>

o <a=

Question Number : 234 Question Id : 16794311756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

HTML fore & & Ty Fufila foear @ gl

Options:
ﬂip}

% <hl>

% <link>

" <a=

Question Number : 235 Question Id : 16794311757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

In DHTML, the letter ‘D stands for:

Options:

% Distributed

» Dynamic
% Daily

% Different
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Question Number : 235 Question 1d : 16794311757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
DHTML &, 38R 'D' T 32 741 87

Options:

., BFg=ges (Distributed)
» SO#A® (Dynamic)
ot (Daily)

. B®e (Different)

Question Number : 236 Question Id : 16794311758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following HTML element is used to define table data/cell?

Options:
# <table=

« <td=
#® <=

% <th>

Question Number : 236 Question Id : 16794311758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

oo sE/Ae & fuig == & for F=fof@a & ¥ 9 @ HTML weide 39aer fmar amar 27
Options:

<table>

i

« <td>
w <ir>

<th>

4

Question Number : 237 Question I1d : 16794311759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which of the following can be used to display black color in HTML?
Options:
» RGB(0. 0, 0)

. RGB(255. 255, 255)
« RGB(255.0,0)

.« RGB(0. 255, 0)

Question Number : 237 Question Id : 16794311759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HTML & e T & 9299 = & fov @ & ¥ fBger 399er o 31 gar 87
Options:

~RGB(0, 0, 0)

. RGB(255, 255, 255)
. RGB(255, 0, 0)

. RGB(0, 255, 0)

Question Number : 238 Question Id : 16794311760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following category of CSS is defined in the <head> section of an HTML page. within a <style> element?

Options:
% Inline CSS

« Internal CSS
# External CSS

% Both Internal and External CSS

Question Number : 238 Question Id : 16794311760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fafaf@a ¥ CSS #r g 4ofr 1 <style> vade F 3799F HTML 95 ¥ <head> @9 &
Fefia fmar = 872
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Options:

% Inline CSS
« Internal CSS

% External CSS

« Internal 3T External CSS AT

Question Number : 239 Question Id : 16794311761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following statement about HTML attributes is false?

Options:
% HTML element can have attributes

« Attributes provide additional information about an element
» Attributes are always specified in the end tag

« Attributes usually come in name/value pairs like: name ="value"

Question Number : 239 Question Id : 16794311761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HTML TaQwansdt & sr & Reaef@a # o Sia @ = 7og 22

Options:

. HTML tweisie & tfieege & @ehar &
., TReTE T & I & #faed JTEH 59 1 8
, Uieege gem g oo # AT g

., Ufeege 3HER X name/value (ATH/HET) I3H H g1 ¢ S/ name = "value”

Question Number : 240 Question Id : 16794311762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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What will be the output of the following segment of the HTML codes?
<pl=

=li=Coffee</li=

<li=Tea</li>

<li=Milk=/li=
<fol=
Options:

1. Coflee

2. Tea

« 3. Milk

. Milk
. Tea
. Coffee

#®
L

. Coffee
. Milk
. Tea

bd =

%
Ll

Coftfee
Tea
s Milk
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HTML &3 & fReafai@a s &1 HEcye #41 grem?
<ol>

<|i>Coffee</li>

<li>Tea</li>

<li=Milk</li>

</ol>
Options:

1. SIHr
2. I

ﬁ?S.E;?-T
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Correct : 1 Wrong: 0.25
Identify the incorrect statement.

Options:
» DHTML is a programming language

% JavaScript is the scripting standard for HTML
% DHTML is the art of combining HTML, JavaScript, DOM, and CSS

5 DHTML is a term used to describe the technologies used to make web pages dynamic and interactive
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Options:
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« DHTML HTML, JavaScript, DOM, 3T CSS & Taaa AT FaT ©

DHTML T eegraell & S 39 9= 1 aifaeiisr 3R seifees g9 & e s9aer fr I ar ao=
« T IO T F T @ T s §

Question Number : 242 Question 1d : 16794311764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following category of style sheet can be used to change the look of an entire website, by changing one file
(CSS)?

Options:
% Inline CSS
% Internal CSS

« External CSS

% Both Inline and Internal CSS

Question Number : 242 Question Id : 16794311764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

IS (CSS) & agast, HIUT 9ABE & §T Hl ool & o0 HeaAtonad J & fFa wema ofie Sofr #r
3agrET fRar ST Eehar 27

Options:

% Inline CSS
% Internal CSS

« External CSS

% Inline 3T Internal CSS =T
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In HTML., a color can be specified in the form of hsl(hue. saturation, lightness). where hue is a degree on the color
wheel from 0 to 360. What are the hue values representing red, green, and blue?

Options:
» 0: Red, 120: Green, 240: Blue

% 0: Red, 130: Green, 260: Blue
« 100: Red. 200: Green, 300: Blue

%« 120: Red. 240: Green, 360: Blue
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Options:

» 0: @met, 120: g1, 240: drer

« 0: omer, 130: g1, 260: e
« 100: =mer, 200: g1, 300: =rer

« 120: =mer, 240: g1, 360:; =er


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7
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In VB Script. the <Script= tag includes an attribute specifying that the of our script is VB Script.

Options:
# Browser
» Language

« Message Box

» Body Tag
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In VB script, is used to force all variables to be declared before they are used.

Options:

» Option Explicit
% Option Implicit
% Script Tag

% Variant
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Correct: 1 Wrong: 0.25
VB & =, T 3TTRT @l TR 3% I T Og T WA F e B ST 2

Options:
»~ Option Explicit

« Option Implicit
« Script Tag

% Variant
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‘Which of the following is not a variant subtypes supported by VB Script?

Options:
% Empty

g Currency
» EXcept

# FError
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F=ef@a § @ =7 @ VB B gar auds (Tafda) v IR & 3925 (3I99FR) F6T 87
Options:

« Empty (TTel)
., Currency (HT)
 Except (Faam)
., Error (Ife)
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In VB Script. variables declared at script level cannot be declared using ?
Options:
« Protected

% Dim
% Public

% Private
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Any time you include JavaScript verbiage in HTML document, you must enclose those lines inside a tag pair.

Options:
% <HTML=> and </HTML=>
% <Body>= and <\Body=

% =Div= and <\Div=

» <Script> and </script=
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Options:

x <HTML> @m </HTML>

» <Body> 31X <\Body>

% <Div> 3T <\Div>

» <Script> and </script>
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In JavaScript, the is the master container for all content you view in the web browser.

Options:
% Document Object

» Window Object
% Location Object

% Screen Object
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Options:
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« &= A=
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Correct: 1 Wrong: 0.25
Which window method generates a dialog box that displays whatever text vou pass as a parameter in JavaScript?

Options:
% Display()

% Show()
» Alert()

» Perform()
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Options:

% Display()

« Show()
» Alert()

« Perform()
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‘Which object holds the real content of the page in JavaScript?

Options:
+« Document
% Alert

% Location

% Window
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Options:
+ Document

% Alert
% Location

% Window
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Correct : 1 Wrong: 0.25
With respect to image types. JPEG stands for

Options:
» Joint Photographic Experts Group

% Join Photographic Experts Group
% Joint Photonic Experts Group

% Joint Photographic Experts Gathering
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Which of the following image type has an extension as .dib?

Options:
# Enhanced Window Metafile
% Windows Metafile

» Bitmap Image

% RLE Image
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MIDI stands for ?

Options:
% Musical Instrumental Digital Interconnection
» Musical Instrument Digital Interface

% Musical Instrument Digital Intra-connection

% Musical Instrumental Digit Interconnection
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The MPEG standard is primarily a specification?
Options:

# Unicodestream

« DBytestream
« Bitstream

% Wordstream
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Options:
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Correct : 1 Wrong: 0.25
In MPEG layered bitstream structure, macroblock layer consists of pixels.

Options:
# 4 x4

% 32x32
# 8X8

« 10 % 16
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Options:

% 4 x 4

x 32 x 32
# 8 x 8

16 x 16
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Images with colors depths of eight bits have 256 colors and it is known as

Options:
» Palette images

% True color images
% Monochrome images

% High color Images
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‘Which of the following color depth is not supported in .bmp image?

Options:
% 8 bit

# 16 bit
% 24 bit
« 128 bit
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Options:

% 8 &
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% 24 f&e
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Which of the following image type uses lossy compression?
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st GIF
# TIF
« JPG

# PNG
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Options:

% GIF

% TIF
« JPG

# PNG
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Images known as “high color images™ consist of color depths.

Options:
% © bits per pixel

» 16 bits per pixel
% 4 bits per pixel

% 1 bit per pixel
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Question Number : 261 Question Id : 16794311783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following switching technique was used in ARPANET?

Options:
% Message Switching

% Circuit Switching

» Packet Switching


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

% Data switching
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Question Number : 262 Question Id : 16794311784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘When a signal travels through a media. loss in its energy is called:

Options:
g Latency

% Distortion
% Noise

« Aftenuation
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Question Number : 263 Question Id : 16794311785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Which of the following protocol is used to convert the IP address to MAC address?
Options:

« Border Gateway protocol

« Address Resolution Protocol
% Reverse Address Resolution Protocol

% Dynamic Host Routing Protocol
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Question Number : 264 Question Id : 16794311786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Number of signals elements transmitted per second is called
Options:

+ Baud rate

« Dyte rate

% DBit rate
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% Data rate
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Question Number : 265 Question Id : 16794311787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many maximum links can be created in a mesh topology network of n computers?

Options:
® 1

# n—1
g n(n-1)

nn—1)
v 2
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Question Number : 266 Question Id : 16794311788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A web browser is an example of

Options:
« Client

# Server
% Protocol

% Cookies
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Question Number : 267 Question Id ;: 16794311789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Twisted-pair cables transmit signals in the form of:

Options:
» Light

« Electric current

% Radio waves
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« Infrared light
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Question Number : 268 Question Id : 16794311790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following connector is used by Unshielded Twisted Pair (UTP)?

Options:
« RI45
® RJ35

# RS545

# RS55
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Question Number : 269 Question Id : 16794311791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Suppose a bit-stuffing based framing protocol uses an 8-bit delimiter pattern of 01111110. What will be the input
bit-string corresponding to the output bit-string 011111001017

Options:
% 0111110100

« 0111110101
# 0111111010

# 0111111101
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Options:

% 0111110100
« 0111110101
% 0111111010

# 0111111101

Question Number : 270 Question Id : 16794311792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Suppose a 100 km long cable has a speed of 1.536 Mbps. The signal speed in cable is 2/3 speed of the light. What will
be the number of bits in the cable?

Options:
# 500

o 768

# 400
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Question Number : 271 Question Id : 16794311793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is used to alarm about the collision detection in a network using the CSMA/CD?
Options:

% Backoff value

» Jamming signal
# Frame

« Interframe space
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Question Number : 272 Question 1d : 16794311794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Which of the following is not a LAN technology?

Options:
% Fiber Distributed Data Interface

» Token Ring
% Ethernet

» Frame Relay
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Question Number : 273 Question Id : 16794311795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘What is the value of Start Frame Delimiter in Ethernet frame?
Options:

« 10101011

# 10101010
# 01101011

# 10101111
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« 10101011

% 10101010
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Question Number : 274 Question Id : 16794311796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The class-C IPv4 address must start with

Options:
% 10

# 101

» 110

# 011

Question Number : 274 Question Id : 16794311796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

FOTH-UT HTS9ET 4 TSH (class-C IPv4 address) F /Y YT AT AR

Options:

% 10

% 101

« 110

» 011

Question Number : 275 Question 1d : 16794311797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

‘Which of the following statement is FALSE?

Options:
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% A source address is always unicast
« A destination address can be unicast. multicast. or broadcast

» The multicast address is the special case of the broadcast address in which all the bits are 1

% The least significant bit(s) of the first byte determines the class of the address
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Question Number : 276 Question Id : 16794311798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
State whether True or False?

I. Radio waves can penetrate the walls and used for multicast communication.
II. Infrared signals are used for short range communication.

Options:
« I-True. II-False
 1-True, II-True

« I-False, II-True

« I-False, II-False
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Question Number : 277 Question Id : 16794311799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
State whether True or False?

I.  The default subnet mask for Class-C IP address is 255.255.255.x.
II.  Very first four bits of the first octet in Class-D IP addresses are set to 1100.

Options:
» I-True, II-False

g I-True, [I-True
w I-False, II-True

« I-False, II-False
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Question Number : 278 Question 1d : 16794311800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The IP address range to is reserved for loopback.

Options:
% 127.10.10.0, 127.255.255.255

#127.00.0, 1272552552355
x 127.10.10.10, 127.255.255.255

% 127.0.0.0, 127.255.0.0
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Options:

% 127.10.10.0, 127.255.255.2585

» 127.0.0.0, 127.255.255.255
% 127.10.10.10, 127.255.255.255

% 127.0.0.0, 127.255.0.0

Question Number : 279 Question 1d : 16794311801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
State whether True or False.

[. Lifetime attribute is used to specify the lifetime of a cookie in a browser.
II. Cookies are made secure using the Boolean attribute.

Options:
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w I-True. II-False
« I-True, II-True
» I-False, II-True

« I-False, II-False
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Correct : 1 Wrong: 0.25
Suppose a CSMA/CD local Area Network of 1 Gbps is there over a 1 km cable. If the signal speed in the cable is

2% 10° km/sec, what will be the minimum frame size?
Options:
% 4000
% 100000
« 10000

# 5000
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Question Number : 281 Question Id : 16794311803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to Kohlberg’s Moral Development Theory, ethical principles are internalised and judgments are made in the

age group of :
Options:
% 10to 13 years
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% 4to 10 vears
« 13 and above

% 1 to 4 years
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FgeasT F Afw REw feE & wEr, At REd #F FF 3y 797 § 3 s s g Ek

Options:

%« 10 ¥ 13 @A
%« 43T 10 AT
v 13 3T X

1 T4 7

Question Number : 282 Question Id : 16794311804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Women have made better progress financially as compared to their progress on the personal front.

This is a typical example of which one of the following?
Options:

» Cultural lag

% Cultural pluralism

% Cultural preservation

% Cultural transition

Question Number : 282 Question Id : 16794311804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 283 Question Id : 16794311805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The significance of an event lies in the context of its time of occurrence and the content is organised and studied as such
in which of the following approaches?

Options:
% Spiral approach

» Chronological approach
« Integrated approach

» Correlation approach

Question Number : 283 Question Id : 16794311805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 284 Question 1d : 16794311806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Designing differentiated learning activities is a significant aspect of which of the following approaches?

Options:
» Child-centric approach

» EXperiential learning approach
% Activity-based approach

% Subject-based approach

Question Number : 284 Question 1d : 16794311806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 285 Question 1d : 16794311807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
One of the benefits of using technology in instruction is that it helps the teacher:

Options:
» communicate effectively

% give better instruction

% take break from teaching
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» complete the lesson fast

Question Number : 285 Question 1d : 16794311807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 286 Question Id : 16794311808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Subjects are generally limited to:

Options:
% Universities

« Schools
% Professional courses

% Vocational courses

Question Number : 286 Question Id : 16794311808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 287 Question Id : 16794311809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Relationships and interaction between boys and girls in school is called:
Options:
% gender sensitivity

» gender dynamics
» gender bias

% gender stereotyping

Question Number : 287 Question Id : 16794311809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 288 Question I1d : 16794311810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
Which of the following methods is best suited for teaching science?
Options:

% Discussion
% Role play

% Activities
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Question Number : 288 Question Id : 16794311810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 289 Question Id : 16794311811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Proper application of content knowledge is evident when the teacher:

Options:
% gives lot of home assignment

% explains the topic clearly
» transforms the subject matter in such a way that it reaches the students

% Egives adequate notes

Question Number : 289 Question Id : 16794311811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 290 Question 1d : 16794311812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Reading local literature helps a social science teacher to:

Options:

» contextualise the topic in classroom teaching
« develop interest in the locality
% understand the local significance

« discuss with colleagues

Question Number : 290 Question Id : 16794311812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 291 Question Id : 16794311813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 291 Question Id : 16794311813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Integrating music in lessons enhances:

Options:
% sclentific skills

« mathematical abilities

% Pphysical development

% personal skills

Question Number : 292 Question Id : 16794311814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following aspects can be developed by integrating visual arts in education?

Options:
% Colour identification

» Spatial abilities
% Physical development

% Aesthetics

Question Number : 292 Question Id : 16794311814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 293 Question Id : 16794311815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is WOT an Operating System?

Options:
# MS-DOS

# 105
« LDAP

# LINUX

Question Number : 293 Question 1d : 16794311815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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« LDAP

% LINUX

Question Number : 294 Question Id : 16794311816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following operations CANNOT be done on a database?

Options:
% Sorting
% Ordering

% Grouping

« Iteration
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Question Number : 294 Question 1d : 16794311816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 295 Question Id : 16794311817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following statements is true of environmental education?
Options:

s It is studied in school through activities

» It is ongoing and often concerns contemporary issues
% It involves awareness programmes for adults

% Students voluntarily participate in these activities

Question Number : 295 Question Id : 16794311817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.25
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Question Number : 296 Question Id : 16794311818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is NOT an attribute measurement in assessment?

Options:
% Achievement

x 1Q
« Aftitude

% Aptitude
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Question Number : 297 Question Id : 16794311819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statistical results are:
Options:

» alwavs correct

% always misleading
» lrue on average

% difficult to assess
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Question Number : 298 Question Id : 16794311820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Learners’ reflection on learning can be considered for:

Options:
» establishing systems in the school

% teacher appraisal

% teacher recruitment

% leporting to parents
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Question Number : 299 Question 1d : 16794311821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Imbecile’ is/was the term that was used for people with mental disabilities in:

Options:

« 171 century

o 18™ century

gth

» late 18" century

% till today
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Question Number : 300 Question Id : 16794311822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Frequent use of gestures and delayed speech may indicate issues related to

Options:
% vision
% attention

» hearing

% comprehension
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